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In aQtli to providing a mP %gank of real past exam questions, we have also included

in this edition:

. An analysis of all of the recent new syllabus examination papers.

. Paper specific information and advice on exam technique.

. Our recommended approach to make your revision for this particular subject as effective
as possible.
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This includes step by step guidance on how best to use our Kaplan material (Complete
text, pocket notes and exam kit) at this stage in your studies.

. Enhanced tutorial answers packed with specific key answer tips, technical tutorial notes
and exam technique tips from our experienced tutors.

. Complementary online resources including full tutor debriefs and question assistance to
point you in the right direction when you get stuck.

You will find a wealth of other resources to help you with your studies on the following sites:

www.mykaplan.co.uk

www.accaglobal.com/students/
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ONLINE ENHANCEMENTS

Timed question with Online tutor debrief

For selected questions, we recommend that they are to be completed in full exam conditions (i.e.
properly timed in a closed book environment).

In addition to the examiner’s technical answer, enhanced with key answer tips and tutorial notes
in this exam kit, online you can find an answer debrief by a top tutor that:

. works through the question in full

. points out how to approach the question

. how to ensure that the easy marks are obtained as quickly as possible, and
. emphasises how to tackle exam questions and exam technique.

These questions are indicated with the “clock” icon in the index.

Online question assistance u\k
| Wa CO

Have you ever looked at a question and not known where % ?uck part way through?
For selected questions, we have produce ‘ﬂ ‘r

guidance, such as: _“
° ensuring thatx st Sthe questlon eqlgsents fully, highlighting key terms and
v

m erbs g
° hbw to read the queonn?)aa\'/e Y, with knowledge of the requirements, to identify the

topic areas covered

a55|sta ffering different levels of

. assessing the detail content of the question body, pointing out key information and
explaining why it is important

. help in devising a plan of attack.

With this assistance, you should then be able to attempt your answer confident that you know
what is expected of you.

These questions are indicated with the “signpost” icon in the index.

Online question enhancements and answer debriefs will be available on MyKaplan

www.mykaplan.co.uk
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INFORMATION TECHNOLOGY Page number

Question  Answer Past exam
26 Perfect Shopper o2 41 246 Dec 07
27 Jayne Cox Direct 42 251 Jun 12
28 Protech-Public 44 255 Jun 10
29 Good Sports &~ 45 258 Dec 06
30 Cronin Auto Retail 46 259 Jun 11
31 ARG 48 263 -
32 Bridge Co 49 264 Jun 14
MARKETING
33 AEC m 51 268 Jun 08
34 HGT 53 276 Dec 13
35 BA Times 55 281 Dec 13
36 IAA 56 285 Dec 10
37 Chemical Transport 57 288 Ju&(&’
38 iTTrain 59 292 Q ‘\A 14
PROJECT MANAGEMENT ‘a_\6 =

AN

39 HomeDeliver 6 298 Dec 11
40 -‘( Om g—‘ BA 301 Dec 08
4 LDB \, \e\N 305 Dec 09

42 P8V—I Promotions age 309 Jun 11
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43 Institute of Independent Analysts 67 313 Jun 14
44 TKP 69 317 Dec 14
45 A clothing company 70 320 Dec 07
46 PAA 72 324 Jun 12
FINANCING

47 Woods Educational Institution 74 328 -
48 Potato-to-go Inc 75 332 -
49 David Silvester &~ 77 334 Dec 06
50 Satellite Navigation Systems 78 336 -
51 X plc 79 339 -
52 World Engines 80 341 Dec 12
53 CoolFreeze 82 345 Pilot 11
54 PES 84 348 -
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ANALYSIS OF PAST PAPERS

The table below summarises the key topics that have been tested in the new syllabus

examinations to date.

Note that the references are to the number of the question in this edition of the exam kit, but the
Pilot Paper is produced in its original form at the end of the kit and therefore these questions
have retained their original numbering in the paper itself.

Pilot | Dec | Jun | Dec | Jun | Dec | Jun | Dec | Jun | Dec
11 10 | 11 | 11 | 12 | 12 | 13 | 13 | 14 | 14

Strategic planning C
PESTEL C C
5 FORCES C 0]
Forecasting 0] (o] (o]
Strengths/weaknesses C C
Value chain 0] 0]
SWOT C C 0] C
Stakeholders/mission C
Strategy evaluation C C 13 \)\L C
Strategic choice C(- \e ‘C 1 c C
Methods of strategic Scx C
development ¢ C)te ¢ c
Organisational structure O( ﬂ E) A_6
Business process ¢ chanq\l 2 0" 0 0o
Project ma 0] o o C 0] 0]
Info? é:q’ nology P g ~0 | O O | O

Marketing 0] 0] 0] 0] 0]
Financing/cost accounting 0] 0] 0] 0]
Strategy and people 0] 0]
Change management C C C C
Key:
C Appeared in the compulsory question (section A) in the exam

o Appeared as an option question in the exam

APPROACH TO EXAMINING THE SYLLABUS

The syllabus is assessed by a three-hour paper-based examination.

Section A

Section A contains one multi-part question based on a case study scenario. This question is worth

50 marks.

Section B

Section B will consist of three discrete questions each worth 25 marks. Candidates must answer

two questions from this section.
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Fill in the self-assessment box below and decide on your best course of action.

Comfortable with question attempt Not comfortable with question attempts
\ 4
Focus on these areas by:
° Reworking test your understanding
examples in Kaplan’s Complete Text
° Revisiting the technical content from
Kaplan’s pocket notes
° Working any remaining questions on
that area in the exam kit
v . Reattempting an exam standard
Only revisit when comfortable with question in that area, on a timed,
questions on all topic areas closed book basis

Note that: u\‘
o . Q.
m The “footsteps questions” give guidance on exam technlqueé\(@vycﬁ;u ould have

approached the question. Otes

%] The “clock questions” ha :Qm\br f where ﬁ:t%&@ through the exam
technique and h\ﬁ a questiogz@o@ question in full.

preV™ oage

Stage 3: Final pre-exam revision

We recommend that you attempt at least one three hour mock examination containing a set of
previously unseen exam standard questions.

It is important that you get a feel for the breadth of coverage of a real exam without advanced
knowledge of the topic areas covered — just as you will expect to see on the real exam day.

Ideally this mock should be sat in timed, closed book, real exam conditions and could be:
. a mock examination offered by your tuition provider, and/or
. the pilot paper in the back of this exam kit, and/or

. the last real examination paper (available shortly afterwards on MyKaplan with “enhanced
walk through answers” and a full “tutor debrief”).
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strategies and
strategy evaluation

m\

g d‘ln Q63. Strategy evaluation
pears in almost every compulsory
nd it is vital that you can apply

ﬁgﬁ@/ technique.

Topic Complete Pocket | Questions Tutor guidance Date Self assessment
Text note to attempted
Chapter Chapter attempt \ /s
Strategic choice \ \\K
— competitive 5-6 5-6 64, 74 Com e (tr \ejes Will have already

- strateglc

dev@p?@

\N7\‘
Pa

e ?

It is important in these types of question
that you do not just regurgitate the lists
that are presented in the pocket notes.
You need to apply the lists to the
scenario and ensure you focus on the
actual requirement in the scenario.Q66
provides a good question on portfolio
management.

Strategy in action

— Organisational
structure

18

There are few recent exam questions on
this area. But Q18 should test your
application of the pocket note material
to a question scenario. The key in this
guestion is to spot the most appropriate
type of structure.

— Business process
change

21,22

Harmon’s models are the key models in
this chapter. The first model helps decide
which processes should be redesigned,
the second model helps explain how the
redesign should happen. Q21 is a good
test of the first model, whilst the second
model (already been covered in Q74 and

Q78) is covered again in Q22.
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In the last six months, ATL has developed an e-learning course for the certificate in
Information Technology. There are three main reasons for this development. The first
reason is to allow candidates to prepare for the examination in a flexible way, studying ‘at
their own pace in their own place’. Currently, courses are only run in Eothen and each
certified course takes five days. In contrast the e-learning product will be delivered over the
Internet. The second reason is to provide a cheaper route to the qualification. Course
places currently cost $950 per person. Finally, ATL wishes to exploit a global market. It
believes that there is a ‘very large market’ for e-learning for this qualification, particularly in
countries where disposable income is less than in Eothen. It feels that overseas customers
will be sensitive to price, but they have no estimate of this sensitivity.

Eothen, itself, is in a period of economic decline and the top 500 companies, which are
specifically targeted by ATL, are reducing their training budgets. Figure 1 shows the results
of research from MidShire University into the relationship between average training spend
per employee and companies’ gross profit. Data given below is from 10 of the top 500
companies targeted by ATL. Statistics produced by the Eothen government suggest that the
average gross profit of the top 500 companies in Eothen will fall to $50m next year. In this
analysis, the independent variable (gross profit) is x, which is being used to estimate a
dependent variable y (average annual training spend per employee).

Average annual
Gross profit  training spend per

Company (Sm) (x) employee (S) (y)  Analysis

A 50 900 The regression line for the tw Wes
B 100 1,050 is defined by \élG 6

C 120 1,500

D 30 750 NO\‘(%%atlo

; . (Qf“ A

F 00 %

j g OV

500
300 1,500

P‘e\"e?vagﬁ

Figure 1: Training spend analysed against gross profit

The e-learning product has been specified by an experienced lecturer and developed by a
business analyst. The latter will also be responsible for supporting students once the
product has been released. ATL is the first company to produce an e-learning product for
the ISD market. It wishes to quickly build on its success and to offer e-learning for the other
two certificates — Software Engineering and Solutions Architecture.

W09’ [ellarewApniseaoseaal)//:dny JSIA 310w PeOJUMOp O |

Each certificate examination costs $125 and is available on demand in test centres all over
the world. This makes it very accessible to the countries that ATL are targeting. The
managing director of ATL has also discovered the following analysis of nationwide e-
learning sales published by Training Trends, a respected Eothen-based publication. Here the
independent variable is time (x) and e-learning sales is the dependent variable (y).
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PRACTICE QUESTIONS : SECTION 1

10

Required:

(a) Evaluate the strategic position of the estate with specific reference to the
expectations of stakeholders, to the external environmental factors beyond the
control of the estate and to the strategic capabilities of the estate itself.

(15 marks)

(b) Discuss how the website could be further developed to address some of the issues
highlighted in the survey. (10 marks)

(Total: 25 marks)

ATD

ATD is a medium-sized engineering company providing specialist components for the
marine engineering market. The sales manager is currently under pressure from the other
departmental managers to explain why his sales revenue forecasts are becoming
increasingly unreliable. Errors in his forecasts are having consequential effects on
production, inventory control, raw materials purchasing and, ultimately, on the profitability
of the company itself. He uses a ‘combination of experience, intuition and guesswork’ to
produce his sales forecast, but even he accepts that his forecasts are increasingly
inaccurate.

Consequently, he has asked a business analyst to investigate more rigorous, appropriate

ways of forecasting. The business analyst has suggested two possible alternatl he first
(summarised in Figure 1) is least squares regression. The second (su Q re 2) is
E e for ATD, so the

time series analysis. The actual sales figures in both of th \ﬁn
company is currently in quarter 3 — 2013. H t@. ness analyst has left the
company before completing and explagQi 4 ams% or implications of, these

two alternative approaches t m i
Figure 1: Least SW '&1

SreS saped: QO

20X0 quarter 1 1 110 1 110 12,100
20X0 quarter 2 2 160 4 320 25,600
20X0 quarter 3 3 155 9 465 24,025
20X0 quarter 4 4 96 16 384 9,216
20X1 quarter 1 5 116 25 580 13,456
20X1 quarter 2 6 160 36 960 25,600
20X1 quarter 3 7 153 49 1,071 23,409
20X1 quarter 4 8 100 64 800 10,000
20X2 quarter 1 9 128 81 1,152 16,384
20X2 quarter 2 10 180 100 1,800 32,400
20X2 quarter 3 11 169 121 1,859 28,561
20X2 quarter 4 12 99 144 1,188 9,801
2013 quarter 1 13 137 169 1,781 18,769
2013 quarter 2 14 180 196 2,520 32,400
1,943 1,015 14,990 281,721

b 1.84

a 125.022

r 0.253
The equation of a straight line is y = a + bx
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Larger and more complex items (such as mobility scooters and bath lifts) are bought in bulk
from suppliers and stored in the hangars. Delivery of these items to IL is organised by their
manufacturers. These products are stored until they are ordered.

When an order is received for such products, the product is unpacked and tested. An
IL transfer logo is then applied and the product is re-packaged in the original packing
material with an IL label attached. It is then dispatched to the customer. Some inventory is
never ordered and last year IL had to write-off a significant amount of obsolete inventory.

All goods are sold at cost plus a margin to cover wages and administrative costs. Prices
charged are the same whether goods are ordered over the web or by telephone. Customers
can also make a further voluntary donation to help support IL if they wish to. About 30% of
customers do make such a donation.

Ordering and marketing

IL markets its products by placing single-sided promotional leaflets in hospitals, doctors’
surgeries and local social welfare departments. This leaflet provides information about IL
and gives a direct phone number and a web address. Customers may purchase products by
ringing IL directly or by ordering over their website. The website provides product
information and photos of the products which are supplied by IL. It also has a secure
payment facility. However, customers who ring IL directly have to discuss product
requirements and potential purchases with sales staff over the phone. Each sales discussion
takes, on average, ten minutes and only one in two contacts results in a sale. 20% of sales
are through their website (up from 15% last year), but many of their custo

unfamiliar with the Internet and do not have access to it. Goods are djko;@ mers

by a national courier service. Service and support for the @ cts (mobility
scooters, bath lifts) are supplied by the orlglnal ma

I|vmg aids. La rity made a 000, and it had to sell some of its
\i& ver th|s commerual firms it is competing with have
d sales and?a operatlons and then arrange delivery to customers
dlrectly from manufacturérs based in low labour cost countries.

Commercial competitors Ar
IL is finding it increa sma &a |c®tmmpet wnG&m% al*firms offering independent

Required:

IL fears for its future and has decided to review its value chain to see how it can achieve
competitive advantage.

(a) Analyse the primary activities of the value chain for the product range at IL.
(10 marks)

(b) Evaluate what changes IL might consider to the primary activities in the value chain
to improve their competitiveness, whilst continuing to meet their charitable
objectives. (15 marks)

(Total: 25 marks)

18
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The Equipment Emporium has 57 superstores throughout the country selling tools and
machines such as air compressors, generators and ventilation systems. It is a well-
recognised brand with a strong marketing presence. It focuses on selling specialist products
in bright, well-lit superstores. It has approached Graffoff to ask whether it can sell the
Graffoff product through its superstores. Emile has rejected this suggestion because he
feels that his product requires proper training if it is to be used efficiently and safely. He
sees Graffoff as offering a complete service (graffiti removal), not just a product (graffiti
removal equipment) and so selling through The Equipment Emporium would be
inappropriate.

Figure 1: Extracted financial data for Graffoff’'s second year of trading, reported at

31 December 20X1

Extract from the statement of financial position:

as at 31 December 20X1
All figures in $000:

Extracts from the income statement:
as at 31 December 20X1

All figures in $S000

ASSETS Revenue 1,600
Non-current assets Cost of sales (1,375)
Property, plant and equipment 1,385 Gross profit 225
Intangible assets 100 Administrative expenses (100)
Total non-current assets 1,485 Finance costs (15)
Current assets Profit before tax %
Inventories 100 Income tax expensiDO u )
Trade receivables 260

Cash and cash equivalents

Profit forg.\ iQ

Total current assets

Total as \e\l\l
£I¥Y§::,LIABILITIESP ge ’/

Share capital 1,500
Retained earnings 30
Total equity 1,530

Non-current liabilities
Long-term borrowings 250

Total non-current liabilities 250

Current liabilities

Trade and other payables 75
Current tax payable 20
Total current liabilities 95
Total liabilities 345
Total equity and liabilities 1,875

22
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PRACTICE QUESTIONS : SECTION 1

In 20X6 MMI acquired Boatland, a specialist boat maker constructing river and canal boats.
The primary rationale behind the acquisition was the potential synergies with First Leisure.
First Leisure had experienced difficulties in obtaining and maintaining boats for its leisure
parks and it was expected that Boatland would take on construction and maintenance of
these boats. Cost savings for First Leisure were also expected and it was felt that income
from the First Leisure contract would also allow Boatland to expand its production of boats
for other customers. MMI perceived that Boatland was underperforming and it replaced
the current management team with its own managers. However, by 20X8 Boatland was
reporting poorer results (see table 1). The work force had been used to producing
expensive, high quality boats to discerning customers who looked after their valued boats.
In contrast, the boats required by First Leisure were for the casual use of holiday makers
who often ill-treated them and certainly had no long-term investment in their ownership.
Managers at First Leisure complained that the new boats were ‘too delicate’ for their
intended purpose and unreliability had led to high maintenance costs. This increase in
maintenance also put Boatland under strain and its other customers complained about
poor quality workmanship and delays in completing work. These delays were compounded
by managers at Boatland declaring First Leisure as a preferred customer, requiring that
work for First Leisure should take precedence over that for established customers. Since
the company was acquired almost half of the skilled boat builders employed by the
company have left to take up jobs elsewhere in the industry.

Three months ago, InfoTech — an information technology solutions company approached
MMI with a proposal for MMI to acquire them. The failure of certain contractsyhgs led to
falling revenues and profits and the company needs new invest Vbnaging
Director (MD) of InfoTech has proposed that MMI should i for a nominal
sum and then substantially invest in the com@ﬁ ‘g tan regain its previous

profitability and revenue levels. Howeye Q rience with Boatland, the CEO of
MMI is cautious about any furthm n of th%m
Table 1: Fmanan I&&Q afoga ,@"P ids (all figures in $millions)

20X6 20X4 20X2

e)"r nd Minin
eYenue P é'g 1,680 1,675 1,250 1,275

Gross profit 305 295 205 220
Net profit 110 105 40 45
*Estimated Market Revenue 6,015 6,050 6,200 6,300
First Leisure 20X8 20X6 20X4 20X2
Revenue 200 160 110 100
Gross profit 42 34 23 21
Net profit 21 17 10 9
*Estimated Market Revenue 950 850 770 750
Boatland 20X8 20X6 20X4 20X2
Revenue 2.10 2.40 2.40 2.30
Gross profit 0.30 0.50 0.50 0.60
Net profit 0.09 0.25 0.30 0.30
*Estimated Market Revenue 201 201 199 198
KAPLAN PUBLISHING 25
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PRACTICE QUESTIONS : SECTION 1

Required:

(a) Critically evaluate the decision made by the CEO to use a software package
approach to automating the production process at Flexipipe, and explain why this
approach was unlikely to succeed. (12 marks)

(b) The CEO recommends that the company now adopts a formal process for
procuring, evaluating and implementing software packages which they can use in
the future when a software package approach appears to be more appropriate.

Analyse how a formal process for software package procurement, evaluation and
implementation would have addressed the problems experienced at Flexipipe in
the production process project. (13 marks)

(Total: 25 marks)

INFORMATION TECHNOLOGY

26

PERFECT SHOPPER m Walk in the footsteps of a top tutor

Local neighbourhood shops are finding it increasingly difficult to compete with
supermarkets. However, three years ago, the Perfect Shopper franchise group was
launched that allowed these neighbourhood shops to join the group andg%/e cost
savings on tinned and packaged goods, particularly groceries. Perf ufchases
branded goods in bulk from established food suppliers and & n Iarge purpose-
built warehouses, each designed to serve a geo a hen Perfect Shopper was
established it decided that dellverles ﬁ houses hould be made by the food
suppliers or by haulage co be aI tuppllers Perfect Shopper

n
places orders with t s‘ d th e delivery to the warehouse.
These arr re'still in place er has no branded goods of its own.

P re avalla 9@ house to re-package goods into smaller units, more
swtable for the re f the neighbourhood shop. These smaller units, typically

containing 50-100 tins or packs, are usually small trays, sealed with strong transparent
polythene. Perfect Shopper delivers these to its neighbourhood shops using specialist
haulage contractors local to the regional warehouse. Perfect Shopper has negotiated
significant discounts with suppliers, part of which it passes on to its franchisees. A recent
survey in a national grocery magazine showed that franchisees saved an average of 10% on
the prices they would have paid if they had purchased the products directly from the
manufacturer or from an intermediary — such as cash and carry wholesalers.

As well as offering savings due to bulk buying, Perfect Shopper also provides, as part of its
franchise:

(i) Personalised promotional material. This usually covers specific promotions and is
distributed locally, either using specialist leaflet distributors or loosely inserted into
local free papers or magazines.

(i)  Specialised signage for the shops to suggest the image of a national chain. The signs
include the Perfect Shopper slogan ‘the nation’s local’.

(iii)  Specialist in-store display units for certain goods, again branded with the Perfect
Shopper logo.

KAPLAN PUBLISHING 41
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PRACTICE QUESTIONS : SECTION 1

Jayne Cox Direct orders wood, upholstery and textiles from long-established suppliers.
About 95% of its wood is currently supplied by three timber suppliers, all of whom supplied
the company in its first year of operation. Purchase orders with suppliers are placed by the
procurement section. Until last year, they faxed purchase orders through to suppliers. They
now email these orders. Recently, an expected order was not delivered because the
supplier claimed that no email was received. This caused production delays. Although
suppliers like working with Jayne Cox Direct, they are often critical of payment processing.
On a number of occasions the accounts section at Jayne Cox Direct has been unable to
match supplier invoices with purchase orders, leading to long delays in the payment of
suppliers.

The sofas and chairs are built in Jayne Cox Direct’s factory. Relatively high inventory levels
and a relaxed production process means that production is rarely disrupted. Despite this,
the company is unable to meet 45% of the estimated delivery dates given when the order
was placed, due to the required goods not being finished in time. Consequently, a member
of the sales team has to telephone the customer and discuss an alternative delivery date.

Telephoning the customer to change the delivery date presents a number of problems.
Firstly, contacting the customer by telephone can be difficult and costly. Secondly, many
customers are disappointed that the original, promised delivery date can no longer be met.
Finally, customers often have to agree a delivery date much later than the new delivery
date suggested by Jayne Cox Direct. This is because customers often get less than one
week’s notice of the new date and so they have to defer delivery to much later. This means
that the goods have to remain in the warehouse for longer.

A separate delivery problem arises because of the bulky ;Qh @@e‘ nature of the
product. Jayne Cox Direct requires someone to be av ‘ *delivery address to sign
for its safe receipt and to put the good S re and dry. About 30% of intended
deliveries do not take place be no on dress to accept delivery.
Consequently, furnlturﬁ @mturned an ﬁ) factory A member of the
sales staff WI| " phon é and negotiate a new delivery date but,
e customn@ can be difficult and costly.

%givery of furnlture ng the company’s own vans. Each of these vans follow a
defined route each day of the week, irrespective of demand.

The company’s original growth was primarily due to the innovative business idea behind
specifying competitively priced bespoke furniture. However, established rivals are now
offering a similar service. In the face of this competition the managing director of Jayne Cox
Direct has urged a thorough review of the supply chain. She feels that costs and inventory
levels are too high and that the time taken from order to delivery is too long. Furthermore,
in a recent customer satisfaction survey there was major criticism about the lack of
information about the progress of the order after it was placed. One commented that ‘as
soon as Jayne Cox Direct got my order and my money they seemed to forget about me. For
ten weeks | heard nothing. Then, just three days before my estimated delivery date,
| received a phone call telling me that the order had been delayed and that the estimated
delivery date was now 17 June. | had already taken a day off work for 10 June, my original
delivery date. | could not re-arrange this day off and so | had to agree a delivery date of
24 June when my mother would be here to receive it’.
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PRACTICE QUESTIONS : SECTION 1

limited company, owned 51% by ProTech and 49% by the city authority. All existing
employees in the IT department and the IT technology of the city authority will be
transferred to ProTech who will then enter into a 10 year outsourcing arrangement with
the city authority. The CEO is very keen on the idea and he sees many other authorities
following this route.

The only exception to this transfer of resources concerns the business analysts who are
currently in the IT department. They will be retained by the authority and located in a new
business analysis department reporting directly to the CEO.

The CEO has suggested that the business analysts have the brief to ‘deliver solutions that
demonstrably offer benefits to the authority and to the people of the city, using
information technology where appropriate’. They need to be ‘outward looking and not
constrained by current processes and technology’. They will also be responsible for liaising
between users and the newly outsourced IT company and, for the first time, defining
business cases with users.

In principle, the creation of the new company and the outsourcing deal has been agreed.
One of the conditions of the contract, inserted by the finance director, is that the new
company achieves CMMI level 5 within three years. The current IT department has been
recently assessed as CMMI level 2. ProTech has recently been assessed at CMMI level 3.

Required:

(a) Evaluate the potential benefits to the city authority and its IT em ees, of
outsourcing IT to ProTech-Public. arks)

(b) The role of the business analyst is currently bein ’
Analyse what new or enhanced @- é@smess analysts will require to
undertake their propose & city autho t (7 marks)
(c) This ques Ie‘ﬁ%@nmger % (6 marks)
(e\, \e\l\f a 7 K (Total: 25 marks)
A pag©

GOOD SPORTS

Timed question with Online tutor debrief

Good Sports Limited is an independent sports goods retailer owned and operated by two
partners, Alan and Bob. The sports retailing business in the UK has undergone a major
change over the past ten years. First of all the supply side has been transformed by the
emergence of a few global manufacturers of the core sports products, such as training
shoes and football shirts. This consolidation has made them increasingly unwilling to
provide good service to the independent sportswear retailers too small to buy in sufficiently
large quantities. These independent retailers can stock popular global brands, but have to
order using the Internet and have no opportunity to meet the manufacturer’'s sales
representatives. Secondly, UK’s sportswear retailing has undergone significant structural
change with the rapid growth of a small number of national retail chains with the buying
power to offset the power of the global manufacturers. These retail chains stock a limited
range of high volume branded products and charge low prices the independent retailer
cannot hope to match.
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BA TIMES

The country of Umboria has two professional business analysis associations, both running
certification examination schemes for business analysts worldwide. These are the
Association of Benefits Consultants (ABC) and the Institute of Consultants, Finance and
Commerce (ICFC). Many private and public sector learning providers run accredited training
courses to prepare candidates for the examinations. Some learning providers provide
courses for both associations, whilst others focus on niche markets. Umboria itself is a
wealthy country with high labour costs and property prices, particularly in the capital city of
Ambosium.

Victor is the editor of the BA Times, a subscription magazine, published once a month,
which provides news and articles preparing students for the examinations of both business
analysis associations. The magazine is edited and printed in offices and an adjoining factory
in Ambosium. The offices and factory are leased and the magazine currently employs
20 people, all of whom live close to the offices. It is the only independent magazine in the
sector. Each association has its own magazine and website, but relatively tight control is
maintained over their editorial policy. Victor was the editor of the ABC magazine (Business
Analysis Today) for 16 years before establishing the BA Times nine years ago. Because of its
independence, the BA Times can be a little more controversial and provocative than its
rivals and it is popular with students and well respected by the profession.

However, despite such recognition, the magazine is currently unprofitable due to increased
production, distribution and office costs, falling subscriptions and reducemrtising.
Changing reading habits in Umboria, particularly amongst the youn s feading
of printed media. All of the traditional media providers are_e ég ancial problems.

The sales of printed magazines and the proflts&$ both falling dramatically
IAcreas

throughout Umboria. Furthermore aﬂ y unconvinced about the
effectiveness of advertising i zines a %ertlsmg revenues of these
magazines are also falli ( 'Q

The w tIy has a ts roIe is to convince the visitor to order the
P azine. T ﬁ s extracts of news and articles, often with provocative
h =

eadlines, which ma din full in the printed magazine.

Recent survey

A recent survey of people who had decided not to renew their BA Times subscription
revealed the following comments:

| am studying the ABC syllabus and so in-depth articles on ICFC topics and
examinations are not relevant to me. | quite enjoy reading the news parts, but not
the in-depth analysis of examinations that | am not taking. ABC student

| have reached the final stage of my examinations. | do not want to read articles
about the stages | have already passed. | reckon only about 15% of BA Times is
relevant to me now. ABC Final Stage student

Some of the readers’ letters are really irritating or just plain wrong, but the editor
seldom makes a comment! It really annoys me! ICFC student

| became a business analyst to get a job, not just to sit examinations and read about
examining bodies. ICFC student

KAPLAN PUBLISHING 55

join us on facebook @ fb.com/freeaccastudymaterial

W09’ [ellarewApniseaoseaal)//:dny JSIA 310w PeOJUMOp O |



To download more visit http://freeaccastudymaterial.com

PAPER P3 : BUSINESS ANALYSIS

41

Required:
(a) This requirement is no longer examinable.

(b) Evaluate the alternative strategies available to ASW’s project manager to address
the slippage problem in the Caetinsure project. (10 marks)

(c) As a result of your evaluation, recommend and justify your preferred solution to
the slippage problem in the Caetinsure project. (6 marks)

(Total: 16 marks)

LDB Online question assistance

Four years ago Lowlands Bank acquired Doe Bank, one of its smaller rivals. Both had
relatively large local branch bank networks and the newly merged bank (now called LDB)
found that it now had duplicated branches in many towns. One year after the takeover was
finalised, LDB set up a project to review the branch bank network and carry out a
rationalisation that aimed to cut the number of branches by at least 20% and branch
employment costs by at least 10%. It was agreed that the project should be completed in
two years. There were to be no compulsory staff redundancies. All branch employment
savings would have to be realised through voluntary redundancy and natural wastage.

LDB appointed its operations director, Len Peters as the sponsor of the pro \(:
designated project manager was Glenys Hopkins, an experienced prmeﬁ@a
worked for Lowlands Bank for over fifteen years. The e nsisted of six
employees who formerly worked for Lowlands mponees who formerly
worked for Doe Bank. They were seconde me prOJe 6

Project issues and conclu Om _‘
Durlng the pr re two majo% Q irst concerned the precise terms of
danc ar e terms of the offer were quickly specified by

te S. The second ne year into the project and it concerned the amount
of time it took to dlsp se of unwanted branches. The original project estimates had
underestimated how long it would take to sell property the bank owned or to re-assign or
terminate the leases for branches it rented. The project board overseeing the project

agreed to the project manager’s submission that the estimates had been too optimistic and
they extended the project deadline for a further six months.

The project team completed the required changes one week before the rearranged
deadline. Glenys Hopkins was able to confirm that the branch network had been cut by
23%. Six months later, in a benefits realisation review, she was also able to confirm that
branch employment costs had been reduced by 12%. At a post-project review the project
support office of the bank confirmed that they had changed their project estimating
assumptions to reflect the experience of the project team.

Potential process initiatives

LDB is now ready to undertake three process initiatives in the Information Technology area.
The IT departments and systems of the two banks are still separate. The three process
initiatives under consideration are:

(1) The integration of the two bespoke payroll systems currently operated by the two
banks into one consolidated payroll system. This will save the costs of updating and
maintaining two separate systems.
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Meeting 3: 4 September attended by MM, RP and IC

IC produced a re-drafted design. This overall design was agreed and the go-ahead was given
for TD to produce a prototype of the design to show to the board.

Meeting 4: 11 September attended by RP, IC and TD

TD explained that elements of the drafted re-design were not technically feasible to
implement in the programming language being used. Changes to the design were agreed at
the meeting to overcome these issues and signed off by RP.

Meeting 5: 13 October attended by MM, RP, IC and TD

The prototype re-design was demonstrated by TD. MM was unhappy with the re-design as
it was ‘moving too far away from the original objective and lacked functionality that should
be there’. TD agreed to write a technical report to explain why the original design (agreed
on 4 September) could not be adhered to.

Meeting 6: 9 November attended by MM, IC and TD

It was agreed to return to the 4 September design with slight alterations to make it
technically feasible. TD expressed concerns that the suggested design would not work
properly with all web browsers.

At the board meeting of 9 December the board expressed concern about the time taken to
produce the re-design and the finance director highlighted the rising costs (currently
$25,000) of the project. They asked MM to produce a formal cost-benefit of the\rg-design.
The board were also concerned that the scope of the project, w % to be
about re-design, had somehow been mterpreted as \ é; veIopment and
implementation.

On 22 December MM produced N ost b A@ysis of the project and
confirmed that the wor, @ een inter _‘ % ng the development and
|mpIement§t|on f 6

e\, \ ? Year 2 Year 3 Year 4 Year 5

R(th P g 000  $10,000 $10,000 $10,000 $10,000
Benefits* 0  $15,000 $25,000 $35,000 $35,000
*These benefits are extra sales volumes created by the website’s extra functionality and the

company’s increased visibility in the market place.

On 4 January the board gave the go ahead for the development and implementation of the
website with a further budget of $25,000 and a delivery date of 1 March. TD expressed
concern that he did not have enough developers to deliver the re-designed website on
time.

Meeting 7: 24 February attended by MM, RP, IC and TD

W09’ [ellarewApniseaoseaal)//:dny JSIA 310w PeOJUMOp O |

A partial prototype system was demonstrated by TD. RP felt that the functionality of the re-
design was too limited and that the software was not robust enough. It had crashed twice
during the demonstration. He suggested that the company delay the introduction of the re-
designed website until it was complete and robust. MM declared this to be impossible.
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New buildings built under the Private/Public investment policy must attain energy level
targets and this is the basis for the estimation, above, of the energy savings. It is expected
that the new centre will attract more customers who will pay for the centre’s use as well as
increasing the use of facilities such as the cafeteria, shop and business centre. These
benefits are estimated, above, under increased income. Finally, it is felt that staff will be
happier in the new building and their motivation and morale will increase. The centre
currently employs 20 staff, 16 of whom have been with the centre for more than five years.
All employees were transferred from the old to the new centre. These benefits are shown
as better staff morale in Figure 1.

Construction of the centre 2010-2011

In October 2010 the centre was commissioned with a planned delivery date of June 2011 at
a cost of $600,000 (as per Figure 1). Building the centre went relatively smoothly. Progress
was monitored and issues resolved in monthly meetings between the company
constructing the centre and representatives of the local authority. These meetings focused
on the building of the centre, monitoring progress and resolving issues. Most of these
issues were relatively minor because requirements were well specified in standard
architectural drawings originally agreed between the project sponsor and the company
constructing the centre. Unfortunately, the original project sponsor (an employee of the
local authority) who had been heavily involved in the initial design, suffered ill health and
died in April 2011. The new project sponsor (again an employee of the local authority) was
less enthusiastic about the project and began to raise a number of objections. Her first
concern was that the construction company had used sub-contracted Iag nd had
sourced less than 80% of timber used in the building from sustas B ces. She

pointed out the contractual terms of supply for the i\N@P policy investment
initiatives mandated that sub-contracting was a@«a ithout the local authority’s
permission and that at least 80% of thn must ¢ n@rom sustainable forests.
The company said that.thijs W\ bden brough 6&( tion at the start of the
project. However, & ey“ to cqm w‘h)‘&?se equirements for the rest of the
contracgllﬁemonsor also refu w cceptance of the centre because of the
cg TThe construction company explained that this was
eh intended fmlsh@ he centre and had been agreed with the previous sponsor.
They produced a letter to verify this. However, the letter was not counter-signed by the
sponsor and so its validity was questioned. In the end, the construction company agreed to
improve the internal painting at their own cost. The new sponsor felt that she had delivered
‘value for money’ by challenging the construction company. Despite this problem with the
internal painting, the centre was finished in May 2011 at a cost of $600,000. The centre also
included disability access built at the initiative of the construction company. It had found it
difficult to find local authority staff willing and able to discuss disability access and so it was
therefore left alone to interpret relevant legal requirements. Fortunately, their

interpretation was correct and the new centre was deemed, by an independent assessor, to
meet accessibility requirements.

Unfortunately, the new centre was not as successful as had been predicted, with income in
the first year well below expectations. The project sponsor began to be increasingly critical
of the builders of the centre and questioned the whole value of the project. She was openly
sceptical of the project to her fellow local authority employees. She suggested that the
project to build a cost-effective centre had failed and called for an inquiry into the
performance of the project manager of the construction company who was responsible for
building the centre. ‘We need him to explain to us why the centre is not delivering the
benefits we expected’, she explained.

KAPLAN PUBLISHING 73

join us on facebook @ fb.com/freeaccastudymaterial

W09’ [ellarewApniseaoseaal)//:dny JSIA 310w PeOJUMOp O |



To download more visit http://freeaccastudymaterial.com

PAPER P3 : BUSINESS ANALYSIS

FINANCING

47

Required:

(a) The local authority has commissioned the independent Project Audit Agency (PAA)
to look into how the project had been commissioned and managed. The PAA
believes that a formal ‘terms of reference’ or ‘project initiation document’ would
have resolved or clarified some of the problems and issues encountered in the
project. It also feels that there are important lessons to be learnt by both the local
authority and the construction company.

Analyse how a formal ‘terms of reference’ (project initiation document) would have
helped address problems encountered in the project to construct the community
centre and lead to improved project management in future projects. (13 marks)

(b) The PAA also believes that the four sets of benefits identified in the original
business case (rental savings, energy savings, increased income and better staff
morale) should have been justified more explicitly.

Draft an analysis for the PAA that formally categorises and critically evaluates each
of the four sets of proposed benefits defined in the original business case.
(12 marks)

(Total: 25 marks)

co V¥

You are a newly appointed Finance Man m ducatlonal Institution (WEI)
that is mainly government funded, rom a si in a service company
in the private sector. WEI i Mtlon establi % has traditionally focused
on providing aca rw atlons for, rﬁ% . It has over 300 full time teaching
staff an \t ét ff, e 100 lectures at any one time within the

with f |es
n bUI|dI g

The objectlve, or mi55| statement, of this Institution is shown in its publicity material as:

WOODS EDUCATIONAL INSTITUTION \

‘to achieve recognised standards of excellence in the provision of teaching and research.’

The only financial performance measure evaluated by the government is that the
Institution has to remain within cash limits. The cash allocation each year is determined by
a range of non-financial measures such as the number of research publications the
Institution’s staff have achieved and official ratings for teaching quality.

However, almost 20% of total cash generated by WEI is now from the provision of courses
and seminars to private sector companies. These customers are aiming to improve their
skills base rather than achieve academic qualifications. They are largely unconcerned about
research ratings and lecturer qualifications and are more concerned with course content
and flexibility. Courses can often be facilitated in WEI's own buildings, but some clients
prefer for courses to be provided in their own offices.

WEI's Head of Education aims to increase the percentage of income coming from the
private sector to 50% over the next five years.
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50 SATELLITE NAVIGATION SYSTEMS
Satellite Navigation Systems (SNS) installs complex satellite navigation systems in cars, at a
very large national depot. The standard cost of an installation is shown below. The
budgeted volume is 1,000 units installed each month. The operations manager is
responsible for three departments, namely: purchasing, fitting and quality control. Satellite
Navigation Systems Limited purchases navigation systems and other equipment from
different suppliers, and most items are imported. The fitting of different systems takes
differing amounts of time, but the differences are not more than 25% from the average, so
a standard labour time is applied.
Standard cost of installation of one navigation system
S Quantity Price (S)
Materials 400 1 unit 400
Labour 320 20 hours 16
Variable overheads 140 20 hours 7
Fixed overheads 300 20 hours 15
Total standard cost 1,160
The Operations Department has gathered the following information over the last few
months. There are significant difficulties in retaining skilled staff. Many have left for similar
but better paid jobs and as a result there is a high labour turnover. Exchange ratgs have
moved and commentators have argued this will make exports cheaper, but K
exports and has not benefited from these movements. Some of the fitt plamed
that one large batch of systems did not have the correct uId not flt certain
cars, but this was not apparent until fittin @%ﬁ%nt rates, insurance and
computing facilities have risen in price Qoti %
The senior managemen Want t & nt to lend more support
for the busin E\Ql\i mforma @a wil eIp them to understand why costs
a ing out of ¢ t@l v&e t few months and what the organisation can
ove its posﬂ? @
The financial results for September to December are shown below.
Operating statement for SNS for September to December
September October November  December 4 months
S $ S $ $
Standard cost of actual 1,276,000 1,276,000 1,102,000 1,044,000 4,698,000
output
Variances materials
Price 5,505 F 3,354 F 9,520A  10,340A 11,001 A
Usage 400 A 7,200 A 800 A 16,000 A 24,400 A
Labour rate 4,200 A 5,500 A 23,100 A 24,000 A 56,800 A
Efficiency 16,000 F 0 32,000 A 32,000 A 48,000 A
Variable overheads
Expenditure 7,000 A 2,000 A 2,000 F 0 7,000 A
Efficiency 7,000 F 0 14,000 A 14,000 A 21,000 A
Fixed overheads
Expenditure 5,000 A 10,000 A 20,000 A 20,000 A 55,000 A
Volume 30,000 F 30,000 F 15,000 A 30,000 A 15,000 F
Actual costs 1,234,095 1,267,346 1,214,420 1,190,340 4,906,201
A = adverse variance F = favourable variance
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The management team is concerned that X plc has recently faced increasing competition in
the marketplace for Product W. As a consequence there have been issues concerning the
availability and costs of the specialised materials and employees needed to manufacture
Product W, and there is concern that these might cause problems in the current budget-
setting process.

Required:
(a) Prepare the following budgets for each quarter for X plc:
(i) Production budget in units
(i) Raw material purchases budget in kgs and value for Material B. (8 marks)

(b) X plc has just been informed that Material A may be in short supply during the year
for which it is preparing budgets.

Discuss the impact this will have on budget preparation as well as the strategic
planning and decision making within X plc. (12 marks)

The same company is also considering investing in one of three marketing campaigns to
increase its profitability. All three marketing campaigns have a life of five years, require the
same initial investment and have no residual value. The company has already evaluated the
marketing campaigns taking into consideration the range of possible outcomes that could
result from the investment. A summary of the calculations is shown below:

Marketing campaign J K \4
Expected net present value $400,000 0(@0 *$400,000
Standard deviation of net present value 63&@535\105'0‘00 $105,000
(c)  Explain 6A6
(i) emg &x Qta s e O“
‘(e e data ,;Qy the company when choosing between
P alternatl (5 marks)

(Total: 25 marks)

WORLD ENGINES

World Engines (WE) is one of the largest producers of aircraft and ship engines in the world.
It has assets in excess of $600bn. It is currently considering improvements to its marine
engine production facilities. These improvements include the introduction of specialist
hardware and software engine testing technology. Two companies have been shortlisted
for supplying this technology.

Amethyst is a well-established company whose product provides sophisticated testing
facilities and costs S7m. The software that supports the product is written in a conventional
programming language. The solution is widely used, but it is relatively inflexible and it has
an out-of-date user interface. Amethyst has been trading profitably for 20 years and
currently has an annual turnover of $960m.

80

KAPLAN PUBLISHING

join us on facebook @ fb.com/freeaccastudymaterial

W09’ [ellarewApniseaoseaal)//:dny JSIA 310w PeOJUMOp O |



To download more visit http://freeaccastudymaterial.com

PRACTICE QUESTIONS : SECTION 1

The managing director of CoolFreeze has called you in to review the forecasting model used
by the sales forecasting team. “It must be very flawed to go so badly wrong. | have the
feeling that the model is not based on a well-accepted approach”. He has obtained a copy
of the spreadsheet used by the sales forecasting team (see figure four) to help you in your
analysis.

The managing director recognises that the actual quarter 2 performance has to be analysed
against the budgeted one. “I think everyone here has made mistakes — the sales manager,
procurement manager, production manager, administration manager. They all have to take
responsibility. We are in this together and now we must pull together to get out of this
mess”.

Figure three: Analysis of quarter 2 trading; budget and actual

Quarter 2 -2010 Budget Actual
Units 83 50
Revenue $83,000.00 $45,000.00

Raw materials

($29,050.00)

($15,000.00)

Labour ($26,975.00) (515,750.00)
Fixed overheads ($18,000.00) (518,000.00)
Operating profit $8,975.00 ($3,750.00)

Figure four: Forecasting spreadsheet

A B C D E

Part 1 SO{e 6

Year  Quarter Unit m Variatj ﬁ BA Residual Check

2006 .\ze\l\t "(O lfz 6

P(e\, 3 ?a‘%e 65.50 8.50 7.35 1.15 74.00

4 0 67.25 -7.25 -4.73 -2.52  60.00

2007 1 60 554 69.25 -9.25 -11.65 240 60.00
2 80 570 71.25 8.75 9.02 -0.27  80.00
3 80 582 72.75 7.25 7.35 -0.10 80.00
4 70 586 73.25 -3.25 -4.73 1.48 70.00

2008 1 62 588 73.50 -11.50 -11.65 0.15 62.00
2 82 588 73.50 8.50 9.02 -0.52  82.00
3 80 586 73.25 6.75 7.35 -0.60 80.00
4 70 586 73.25 -3.25 -4.73 1.48 70.00

2009 1 60 590 73.75 -13.75 -11.65 -2.10 60.00
2 84 590 73.75 -10.25 9.02 1.23  84.00
3 82
4 68
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‘business was not fun anymore’. The company was legally required to publish directors’
salaries in its annual report and the generous salary package enjoyed by the Chairman and
CEO increasingly became an issue and it dominated the 20X2 Annual General Meeting
(AGM). Hein was embarrassed by its publication and the discussion it led to in the national
media. He felt that it was an infringement of his privacy and civil liberties.

Phase 3 (20X3-20X8)

In 20X3 Hein found the substantial private equity investment necessary to take Rock
Bottom private again. He also used all of his personal fortune to help re-acquire the
company from the shareholders. He celebrated ‘freeing Rock Bottom from its shackles’ by
throwing a large celebration party. Celebrities were flown in from all over the world to
attend. However, most of the new generation of store managers found Hein’s style to be
too loose and unfocused. He became rude and angry about their lack of entrepreneurial
spirit. Furthermore, changes in products and how they were purchased meant that fewer
people bought conventional audio products from specialist shops. The reliability of these
products now meant that they were replaced relatively infrequently. Hein, belatedly,
started to consider selling via an Internet site. Turnover and profitability plummeted.
In 20X7 Hein again considered franchising the company, but he realised that this was
unlikely to be successful. In early 20X8 the company ceased trading and Hein himself, now
increasingly vilified and attacked by the press, filed for personal bankruptcy.

Required:

(a) Analyse the reasons for Rock Bottom’s success or failure in each x} hases
identified in the scenario. Evaluate how Rick Hein’s lga érslc tributed to
the success or failure of each phase. \ (18 marks)

(b) Rick Hein considered franchismg& om bra two points in its history
— 1988 and 20X7. Expl m tors th made franchising Rock
Bottom feasi (9@ would & likely to be successful’ in 20X7.

e\l\bl (7 marks)

\
P ( e\, P ag (Total: 25 marks)

ARC

Ten years ago Sully Truin formed the Academic Recycling Company (ARC) to offer a
specialised waste recycling service to schools and colleges. The company has been very
successful and has expanded rapidly. To cope with this expansion, Sully has implemented a
tight administrative process for operating and monitoring contracts. This administrative
procedure is undertaken by the Contracts Office, who track that collections have been
made by the field recycling teams. Sully has sole responsibility for obtaining and
establishing recycling contracts, but he leaves the day-to-day responsibility for
administering and monitoring the contracts to the Contracts Office. He has closely defined
what needs to be done for each contract and how this should be monitored. ‘I needed to do
this’, he said, ‘because workers in this country are naturally lazy and lack initiative. | have
found that if you don’t tell them exactly what to do and how to do it, then it won’t get done
properly.” Most of the employees working in the Contracts Office like and respect Sully for
his business success and ability to take instant decisions when they refer a problem to him.
Some of ARC’s employees have complained about his autocratic style of leadership, but
most of these have now left the company to work for other organisations.
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SCENARIO-BASED QUESTIONS : SECTION 2

Traditionally, the NM has provided administrative support for sections and departments,
grouped together beneath a Director of Administration. The role of the Director General
has been a part-time post. However, the funding changes introduced by the government
and the need to produce a strategy document, has spurred the Board of Trustees to
appoint a full-time Director General from the private sector. The trustees felt they needed
private industry expertise to develop and implement a strategy to achieve the
government’s objectives. The new Director General was previously the CEO of a major
chain of supermarkets.

Director General’s proposal

The new Director General has produced a strategic planning document showing how the
NM intends to meet the government’s objectives. Proposals in this document include:

(1) Allocating budgets (from 20Y0) to sections based on visitor popularity. The most
visited collections will receive the most money. The idea is to stimulate sections to
come up with innovative ideas that will attract more visitors to the museum. Visitor
numbers have been declining (see Figure 3) since 20X4.

Visitor numbers (000s) 20X7 20X6 20X5 20X4
Age 17 or less 10 12 15 15
Age 18-22 5 8 12 10
Age 23-30 10 15 20 20
Age 31-45 20 20

Age 46-59 35 ép \) 30
Age 60 or more 40 \
Total 130

Figure 3: Visitor numbersw rb
(2) Increasm ra (Q es to‘%ﬁ‘ but to make entry free to
e

dents, chlldren recelvmg government benefit payments.

?3‘ ;'ovmg t 9 ons’ dmmg room and turning this into a restaurant for
visitors. An in§rea

come from catering is also proposed in the document.

(4) Removing the head of sections’ personal assistants and introducing a support staff
pool to reduce administrative costs.

(5) Increasing the display of exhibits. Only 10% of the museum’s collection is open to the
public. The rest is held in storage.

(6) Increasing commercial income from selling posters, postcards and other souvenirs.
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The Director General has also suggested a major re-structuring of the organisation as:

Board of Trustees

Board of Directors )
Director
General
|
Director of Finance Visitor Services Director of Director of
Collections Director Director Resources Information Services
= I Marketing — Purchasing — E-initiatives
Al h;aads — Exhibitions — Property Services  r Information Technology
- 0
- section — Special Events — Personnel — Public Relations
B — Accessibility initiatives

Figure 4: Proposed organisational structure

Reaction to the proposals

Employees have reacted furiously to the Director General’s sug ée ggdea of I|nk|ng
budgets to visitor numbers has been greeted with di ‘ irector of Art and
Architecture. ‘This is a dreadful idea and conf sa@ th historical significance. As
previous governments have reall rtant j e of the collection.

Heritage Collections reco ‘e@ |f|cance by & ation’s interests before
those of an und 5 far if they want to see fashion, they

can Ioo reet sho I|k f A great art and architecture remains.” The
l‘ja and Ar he two professors who hold the Head of Architecture
d Head of Art posts av obbied individual members of the Board of Trustees with

their concerns about the Dlrector General’s proposals.

The Director of Industrial Arts and the Director of Media and Contemporary Art have
contacted powerful figures in both television and the press and as a result a number of
articles and letters critical of the Director General’s proposals have appeared. A recent
television programme called ‘Strife at the NM’ also featured interviews with various heads
of collections criticising the proposed changes. They were particularly critical of the lack of
consultation; ‘these proposals have been produced with no input from museum staff. They
have been handed down from on high by an ex-grocer’, said one anonymous contributor.

Eventually, the criticism of staff and their lack of cooperation prompted the Director
General to ask the Board of Trustees to publicly back him. However, only the two trustees
appointed by the government were prepared to do so. Consequently, the Director General
resigned. This has prompted an angry response from the government which has now
threatened to cut the museum’s funding dramatically next year and to change the
composition of the Board of Trustees so that the majority of trustees are appointed directly
by the government. The Minister of Culture has asked the museum to develop and
recommend a new strategy within one month.
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Once the acquisition is complete, Shoal plc wish to quickly turnaround
Captain Haddock and return it to profitability.

(ii) Identify and analyse the main elements of strategic change required to
achieve this goal. (8 marks)

Professional marks will be awarded in part (b) (ii) for the cogency of the
analysis and for the overall relevance of the answer to the case study
scenario. (2 marks)

Portfolio managers, synergy managers and parental developers are three corporate
rationales for adding value.

(c) Explain each of these separate rationales for adding value and their relevance to
understanding the overall corporate rationale of Shoal plc. (10 marks)

(Total: 50 marks)

AUTOFONE
Introduction

AutoFone was established almost twenty years ago at the beginning of the mobile
telephone boom. It was formed by a dynamic Chief Executive Officer (CEO) who still
remains a major shareholder of the company.

AutoFone brought two new concepts to the market. Firstly, it established retail shops
where customers could go and handle the products and discuss mobile phone opti with

trained sales people. Before AutoFone, all mobile telephones wer h the
customer directly contacting the telephone network provid Q tlonal home land
eisure users. Secondly,

line services) and were generally aimed at busin

AutoFone sold products and services from }@xﬁajor ne ﬁprowders licensed by

the government to provjde W\u ica ions se m country. Previously,

customers couId onI (ﬁi cts an &m hin one network provider’s

range. Autvx d customers t ucts and services across the range of
dérs and

Pg %‘ company s motto ‘ethical advice: the customer’s

In 1990, AutoFone signed a thirty-year supply contract with each provider. Although, in
retrospect, these deals were on commercially favourable terms for AutoFone, the network
providers were happy to agree these deals because none of them believed that mobile
telephones could be successfully sold through retail shops. However, speaking in 20X3, the
managing director of one of the networks suggested ‘that AutoFone had got away with
incredible profit margins’ when they signed the deals in 1990. The four network providers
themselves had re-signed twenty-five year licence deals with the government in 1995.
Under the terms of these deals, licences will be restricted to the four current providers until
their renewal date of 2020.

Retail shops division

AutoFone currently has 415 shops around the country. To reduce costs most shops are on
the edge of (but not in) the main shopping area of the town they serve. It is usual for
AutoFone to sign a fifty-year shop lease in return for low initial annual rental and a rent-
free period at the start of the lease while the company fits out the shop to reflect
AutoFone’s corporate image. In 1997, AutoFone floated on the country’s stock market to
assist the funding of further shops and so continue its organic growth. The national
coverage of its shops, the publicity generated by its CEO and a successful television
advertising campaign culminated, in 20X5, with it being rated by consumers as one of the
top 20 brands in the country.
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WET

Introduction

Arcadia is a country with great mineral wealth and a hard-working, well-educated
population. It has recently enjoyed sustained economic growth generated by the expansion
of its manufacturing industry. The population has grown as well and, as a result, agricultural
output has increased to satisfy this population, with much previously marginal land
converted to arable and pasture land. However, after 10 years of sustained economic
growth the country, in 20X9, began to experience economic problems. Gross Domestic
Product (GDP) has declined for three successive quarters and there is increasing
unemployment. Surveys have shown that wages are stagnant and retail sales are falling.
There are also increasing problems with servicing both personal and business debt leading
to business bankruptcy and homelessness.

The climate of the country is also changing, becoming drier and windier. Last year, for the
first time, the government had to ration water supply to domestic homes.

The formation of WET

In 20X2, the environmental campaigner Zohail Abbas published a book on the Wetlands of
Arcadia. The Wetlands of Arcadia are areas of natural habitat made up of land that is
saturated with moisture, such as a swamp, marsh or bog. Dr Abbas’ book chronicled the
systematic destruction of the wetlands due to population growth, increased economic

development and climate change. Water had been progressively drained from the ands
to provide land for farming and to provide water for the increasing pom try

of the country. Wetlands also provide an |mportant habitat fo bbas showed
that in the period from 1970 to 2000, there had be ﬁ&glme in birds, mammals
and fish dependent upon the wetland habi had begeme extinct.
In 20X3, Dr Abbas formed g SWET) w_g-u % preserving, restoring
and managing, wetla &i a. Slnce Trust has acquired the four
remain ﬂt‘@sﬂ left in the ou rust s work is funded through donations
@‘eéw hip fee e off contributions. Membership is through an
subscription w *‘ embers the right to visit the wetlands. Each wetland site
is managed by volunteers who provide access and guidance to members. The wetlands are
not currently open to the general public. Dr Abbas’ work on the wetlands has brought him

to the attention of the Arcadian public and he is now a popular television presenter. WET is
also a strong brand, recognised by 85% of Arcadians in a recent green consumer survey.

GiftHelp

WET is a registered charity. Charities within Arcadia have to be registered with the
Commission of Charities which regulates charities within the country. The number of
charities has increased significantly in the last few years leading to widespread criticism
from established charities, politicians and the public, who believe that many of these
charities have been formed to exploit taxation advantages. Dr Abbas is a vociferous critic,
particularly after the Commission of Charities gave permission for the establishment of a
rival wetland charity (WWTFT) despite the fact that all wetlands in Arcadia are under
WET'’s control. WWTFT promised to create new wetlands artificially in Arcadia. They have
so far only raised $90,000 of the $151,000,000 required for a pilot site. Dr Abbas was part
of a group that lobbied the government for the reform of the Commission of Charities, but
the government has rejected their advice.
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The government of Arcadia has recently changed the rules on charity taxation. Previously,
once the charity’s accounts had been audited, the government paid the charity a sum of
20% of the total value of donations and membership fees. This reflected the income tax the
donor would have paid on the amount they had given to the charity. However, the
government has now declared that this is unfair as not all donations or membership fees
are from Arcadian taxpayers or from people in Arcadia who actually pay tax. Consequently,
in the future, charities will have to prove that a donation or membership fee was from an
Arcadian tax payer. Only donations or fees supported by this proof will receive the 20%, so
called GiftHelp, refund. Research and evidence from other countries suggests that 30% of
donors will not give the GiftHelp details required and so the charity will not be able to
reclaim tax from these donors. An analysis of WET’s income for 20X8 is given in Figure 1
and an analysis of income for all charities is given in Figure 2. Research has also shown that
55% of members and 85% of donors also give money to other charities.

Figure 1 — WET’s income sources; year 20X8

Members Donors
Arcadian Taxpayers $650,000 $100,000
Arcadian Non-taxpayers $100,000 $50,000
Non-Arcadian $50,000 $50,000
Total $800,000 $200,000

Figure 2 — Income for all Arcadian charities; year 20X8 (in Smillions)

Amount donated to chg )O u\k
Health charities 775 \
Social Care charities te
International charities NO 149 A6
Environmental charitlefv@m
WET zoxs—ite\l\l
m \lrlgmally @9 omotmg the vision and ideology of Dr Abbas. Volunteers
were recruited to administer the wetland sites and the number of members
gradually increased (see Figure 3). Many of these volunteers have become acknowledged

experts in wetlands and their knowledge and experience is valued by members. However,
as the charity expanded a number of issues emerged.

1 Administrative costs rose at a faster rate than subscriptions and donations.
Administrative staff are all full-time paid employees of the charity. However, despite
an increase in staff numbers, there is a substantial backlog of cleared applications in
the Membership Department which have not yet been entered into the membership
computer system. The membership computer system is one of the systems used to
support administration. However, the functionality of this software is relatively
restricted and cumbersome and there have been complaints about its accuracy. For
example, members claim that renewal reminders are often sent out to people who
have already paid and that members who should have received renewal invoices
have never received them. As a result ‘we seem to be wasting money and losing
members’.
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Required:

(a) The new CEO, Sheila Jenkins, recognises that she should understand the strategic
position of WET before considering strategic options and changes. She wants a
concise assessment of the strategic position; covering environment, strategic
capability, stakeholder expectations and organisational mission.

Undertake the assessment, required by Sheila Jenkins, of the strategic position of
WET. (21 marks)

Professional marks will be awarded in part (a) for the scope, structure and tone of
the answer. (4 marks)

(b)  Problems with the current membership renewal process include:

° the low response to payment requests
. the despatch of renewal reminders for people who have already paid
. the failure to send renewal invoices to some members.

Analyse faults in the current membership renewal process that cause the problems
identified above. Suggest solutions that would remedy these faults. (15 marks)

(c) Sheila Jenkins sees customers as ‘both prospective and existing members,
volunteers and donors of WET’. She also wishes to gain increased revenue from
each member and donor.

Evaluate how email and website technology might facilitate the a %n and
retention of WET’s customers and support WET’s aim to gﬁ@' ;& evenues

from members and donors. (10 marks)

esa\ (Total: 50 marks)

o\
REINK CO \N "(Om ?8 .‘ 5A—6

Eland —th

PI&Q an mdustnP}?‘% a relatlvely high standard of living. Most commercial and
r co

domestic consume uters and printers. However, the economic performance of
the country has declined for the last seven years and there are large areas of
unemployment and poverty. The economic problems of the country have led to a
significant decline in tax revenues and so the government has asked its own departments
(and the public sector as a whole) to demonstrate value-for-money in their purchases. The
government is also considering privatising some of its departments to save money. The
Department of Revenue Collections (DoRC), which is responsible for collecting tax
payments in the country, has been identified as a possible candidate for future
privatisation.

The people of Eland are enthusiastic about the principles of reuse and recycling. There has
been a notable rise in the number of green consumers. Mindful of this, and aware of the
economic benefits it delivers, the government is also encouraging its departments (and the
economy as a whole) to recycle and reuse products.

KAPLAN PUBLISHING 119

join us on facebook @ fb.com/freeaccastudymaterial

W09’ [ellarewApniseaoseaal)//:dny JSIA 310w PeOJUMOp O |



To download more visit http://freeaccastudymaterial.com

PAPER P3 : BUSINESS ANALYSIS

Stuart

Revenu 575

Stuart Roam Rail

Increasing fuel costs, increasing road congestion and concern about the environmental
consequences of road transport caused The Roam Group to look at opportunities offered
by rail transport.

In 20X2 The Roam Group purchased the Freight Direct Rail Company (FDRC). FDRC was
formed in 2000 when the government of Meeland privatised the rail freight business. FDRC
had struggled to survive in a business dominated by two large companies who shared the
lucrative bulk freight contracts (coal, iron ore and oil) between them. The FDRC board
welcomed The Roam Group acquisition and the locomotives were quickly painted in the red
and white corporate colours and FDRC was renamed Stuart Roam Rail. However, despite
experienced managers being transferred into the company from other companies in the
Group, Stuart Roam Rail (like FDRC) has struggled to make a significant impact in the rail
freight sector. Most of its customers are at locations which are not directly accessible by
rail. Furthermore, the lucrative bulk rail freight contracts (coal, iron ore and oil) are in
products which companies within The Roam Group have no experience in. It is still unclear
whether the movement of consumer food and drink to multiple locations (The Roam
Group’s core business) is suited to rail transport. Furthermore, it has also been difficult for
The Roam Group’s senior management to understand the culture and economics of the rail
freight business. The railway tracks, which are still owned by the state, are subject to very
close control and monitoring and Stuart Roam Rail’s use of these tracks is directly charged.
There has also been a failure to recognise that train driving requires far greater skills and
training than truck driving.

However, on the positive side, Stuart Roam Rail has developed go ti ihi-container
system which can easily transfer goods between truck x it also effectively
uses warehouse space. Furthermore, mxﬁ agnarkets attracted by a green

image, are very supportive of the ra W wish to %SA d with it.
20X5 ‘ (0)( “ 20X2 20X1
oam lndu % ndustry Roam Industry Roam Industry

mfe\ﬂp@ 659 o

550 2,015 520 2,050 500 2,000

Operating profit 10.80% 9.98% 10.75% 9.95% 10.80% 9.93% 10.45% 9.50% 10.25% 9.57%

ROCE
Stuart

12.25% 11.50% 12.15% 11.45% 12.05% 11.45% 11.95% 11.30% 11.95% 11.35%
Roam Warehousing

Revenue 315 3,200 275 3,010 270 3,050 255 2,950 250 2,850
Operating profit 14.55% 14.50% 14.25% 14.15% 14.20% 14.25% 14.00% 14.25% 13.85% 14.15%

ROCE 14.50% 14.15% 14.25% 14.10% 14.15% 14.10% 13.95% 13.90% 13.95% 13.85%
Stuart Roam Rail
Revenue 112 3,150 110 3,000 105 2,850 105 2,650 105 2,500

Operating profit  4.75% 12.45% 4.50% 12.35% 4.85% 12.25% 4.95% 12.75% 5.15% 12.85%

ROCE

3.50% 8.75% 3.65% 8.55% 3.75% 855% 3.85% 835% 3.85% 8.25%
Table One: Financial data for operating companies in The Roam Group.

The performance of the company is shown under the columns headed Roam. Industry
figures (provided by Freight Line International) are shown under the columns headed
Industry. Operating profit and ROCE figures are averages for the industry while revenue
figures are totals. All revenue figures are in $million.

124

KAPLAN PUBLISHING

join us on facebook @ fb.com/freeaccastudymaterial

W09’ [ellarewApniseaoseaal)//:dny JSIA 310w PeOJUMOp O |



To download more visit http://freeaccastudymaterial.com

PAPER P3 : BUSINESS ANALYSIS

Extracted from statements of financial position (all figures in Sm)

Trade receivables 70 80 90
Share capital 100 100 100
Retained earnings 140 160 170
Long term borrowings 70 50 20

In 20X1, Hammond Shoes paid, on average, their supplier invoices 28 days after the date of
invoice. In 20X3 this had risen to 43 days and in 20X5, the average time to pay a supplier
invoice stood at 63 days.

Required:

(a) Analyse the financial position of Hammond Shoes and evaluate the proposed
investment of $37.5 million in upgrading its production facilities. (14 marks)

(b) Using an appropriate framework (or frameworks) examine the alternative strategic
options that Hammond Shoes could consider to secure its future position.
(20 marks)

Professional marks will be awarded in part (b) for the clarity, structure and style of
the answer. (4 marks)

(c) Advise the Hammond family on the importance of mission, values and objectives in
defining and communicating the strategy of Hammond Shoes. (1 rks)

all

)

e.CY

72 HAIR CARE LTD :‘256-\
Timed question w&v@@ tutor de q O“ 6

el b=
@‘e@at now’ isJP}a‘ge
Sam and Annabelle Butns own and manage the firm Hair Care Ltd, based in the United
Kingdom. The firm was formed in 20X2 when Sam and his wife re-mortgaged their house
and borrowed heavily from the bank to buy out the company from a conglomerate
organisation who were disposing of non-core businesses. Sam had been a senior salesman
with the hair-care subsidiary of the conglomerate. This subsidiary bought hair care
products, mainly small value items and consumables — scissors, brushes, combs, hair nets,
curlers and hair driers, from manufacturers and resold them to wholesalers and large retail

chemist chains within the United Kingdom, mainly for use in hairdressing salons. The new
business has continued in this direction.

arks)

W09’ [ellarewApniseaoseaal)//:dny JSIA 310w PeOJUMOp O |

Main 20X7 19wW7
currency

Purchases from the Far East uss 66% 93%
(mainly Hong Kong, China and Malaysia)

Purchases from mainland Europe Euro 29% 3%
(mainly Italy and Germany)

Purchases from UK GP £ 5% 1%
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make shampoos, conditioners and other cosmetic type products who also buy-in consumer
hairdressing products such as the ones sold by Hair Care Ltd. They then sell these mainly to
the retail trade for domestic use by consumers and not directly to the hairdressing salons as
does Hair Care Ltd. Furthermore these are large companies and Sam believes that they do
not currently see his company as a major threat.

The company has registered a brand name for its main products, which it re-packages,
rather than using the individual brands of the original manufacturers. This has enabled
Hair Care Ltd to generate even greater loyalty from its customers and often to obtain a
price premium from these products.

Sam believes that part of the company’s success stems from the fact that he has an
organisation with minimal administrative overheads. He outsources all of his products,
adding value mainly through branding and the maintenance of customer care. He believes
that strategy is not mainly about beating the competition but in serving the real needs of
the customer. The company has also been able to develop a strong relationship with the
country’s leading retail chemist chain, providing it with good quality, low-cost disposable
products such as hair nets and brushes to be sold under an own-brand label. Although the
margins are inevitably small, the volumes involved more than compensate for this.

The company has had to incur increased investment as a result of the large growth in sales
revenue. The building of the warehouse, the increased inventory-holding costs, capital
expenditure on items such as computing systems, fork-lift trucks and automated inventory
control and retrieval systems could not be financed out of current earnings, Ruj the
company’s bank was only too ready to lend the company the necessary m y Kring
that the original loan had been repaid ahead of schedule. e

a\

Table 1: Details of Performance of Hair Care Ltd: 2
& A_ 20X6 20X7
_‘ m -‘ % (Forecast)
\N 663%_ $000 $000 $000
\e l 3,500 5,010 7,500
P ag 1,450 2,380 3,507 5,250

200 250 290 350

Marketing costs

Distribution costs 300 400 430 500
Administration 50 55 80 120
Interest payments 0 80 220 700
Operating profit 300 335 483 580
Loans 0 850 2,400 5,000
Number of suppliers (actual) 15 20 30 50
Range of products (actual) 35 85 110 130
Total staff including Sam and Annabelle 12 14 15 23
Inventories 230 400 700 1,400
Non-current assets 50 1,500 2,700 6,300

All the success which Hair Care Ltd has achieved has not diminished Sam’s appetite for
growth. He now seems to be driven more by seeking power and influence than acquiring
wealth. He questions the ability of the company to continue its current growth in the
prevailing environment and therefore he is looking for ideas which may facilitate corporate
expansion. He has asked his accountant to provide some options for him to consider.
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EQUITY AND LIABILITIES

Share capital 550
Retained earnings 110
Total equity 660
Non-current liabilities

Long-term borrowings 2,000
Total non-current liabilities 2,000
Current liabilities

Trade and other payables 199
Current tax payable 1
Total current liabilities 200
Total liabilities 2,200
Total equity and liabilities 2,860

Extract from the statement of comprehensive income

All financial figures in Sm \4
Revenue 032\'\

Cost of sales a\e -C (210)
Gross profit NO"GS

Administrative expenses
Profit before tax and mt‘r{s O“ 70
Finance c \N ’L’( 2 (60)
P Stax g 10
Tax expense P a‘ (1)

Profit for the year 9

Extract from the annual report
Number of employees 3,010
Number of rail kilometres 920

W09’ [ellarewApniseaoseaal)//:dny JSIA 310w PeOJUMOp O |

Figure 2: Financial information for the Rudos rail industry as a whole

Measure National rail industry average
ROCE 4.50%
Operating profit margin 10.00%
Gross profit margin 22.00%
Current ratio 2.1
Acid test ratio 1.2
Gearing ratio 48%
Revenue/employee per year $85,000
Number of employees per rail kilometre 4.1
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Current position

Despite the apparent success of GET, there has been considerable criticism of the overall
privatisation of the railway. Much of this criticism is concentrated in two of the
geographical areas where the franchisees have struggled to provide an efficient and
economic service. The government has appointed auditors who are reviewing the operation
of these two franchises and a government minister has stated that ‘terminating the
franchise and opening it up to re-bidding has not been ruled out as an option’. A major rail
accident in Rudos (with many fatalities) has also led to concerns about safety and led to
new legislation being enacted. Further safety legislation is expected concerning the relaying
of track and all franchisees will be expected to implement the requirements immediately.

In 2009, the PNR was returned to power, but with a reduced majority. The leader of the
main opposition party originally suggested that the railways might be re-nationalised if he
were to gain power. However, he has since moderated his view, although he suggests that
‘they should return a significant percentage of their profits to the taxpayer’. Road transport
has also suffered under the PNR government, with many of the roads in the country heavily
congested. Fuel costs have increased to reflect increasing scarcity, causing many companies
to face spiralling transport and storage costs. For the first time in the country’s history, an
ecology (green) party has won seats in government, capitalising on the growth of the ‘green
consumer’, particularly in urban areas.

International rail developments

The pioneering privatisation initiatives in Rudos have been observed by other com
many have adopted similar policies. Recently, the Republic of Ra2|acks hat it

intended to privatise its railway network. Ra2|ackstan is a Ve hours flying
time from Rudos and is part of the former eastern IS a country where there
is currently very little health and safety Ie Iso little employment
\ﬁ& ployees perceive that

which is 1,500 kilometres

legislation, public service jobs a W |ewed

a ‘railway JOb is a joh fi 'ﬁ @ esent

long, empl oy \bbxployees gener ng r%ues of $180,000,000. The country itself
I‘Se chnolo I'infrastructure, with only an estimated 20% of

S? tion havmgg he Internet However, all political parties are united in

their desire to privatise the railways so that money can be invested elsewhere in the

country, for example, for providing better health care.

Because of the poor condition of the railway, the proposal is to retain and upgrade the rail
tracks under public ownership. However, the trains and infrastructure, such as stations, will
be privatised. The government is looking for letters of intent from private companies who
are willing to take over the complete network (excluding the tracks).

A stipulation of the contract is that the bidder should have a significant industrial presence
in the country. For some time GET has been interested in acquiring the company that
undertakes most of the track and train maintenance in Raziackstan. This company SOFR
(SOciety Fabrication de Raziackstan) was established in 1919 and has a long tradition of
engineering. GET has used the company to refurbish some of its equipment and they have
been delighted with the results.

The board of GET now senses a great opportunity. It would like to combine the speedy
acquisition of SOFR with a bid to run the rail network in Raziackstan. In fact, early informal
indications from the Raziackstan government suggest that the bid will be successful if SOFR
has been acquired by GET as no other prospective bidders for the network have yet come
forward.
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Second meeting of the steering group (meeting 2)

The second meeting was attended by the two senior hospital doctors, but one of the health
service support sector workers could not attend. At the start of the meeting, the two
hospital doctors questioned the wide definition of health agreed at the previous meeting.
One of the hospital doctors suggested that delivering health in this wider context was
completely beyond the resources and capabilities of MidShire Health. ‘You have to realise’,
he said, ‘that poor health is often caused by poverty, bad housing and social dislocation.
You cannot expect MidShire Health to solve such problems. We can advise and also treat
the symptoms, but prevention and cure for these wider issues are well beyond us.” The
nursing managers, who had previously approved the wider definition of health, now voiced
their support for a narrower definition of health and sided with the hospital doctors. One of
them commented that ‘our real work is treating the sick and we must recognise this’. The
CEO, outnumbered and outmanoeuvred in the meeting, had to agree to a modification of
his initial vision, narrowing the overall objective to ‘effectively and efficiently treating
disease’. ‘And, as we all know’, stated one of the doctors, ‘efficiency can only be achieved
through giving control and budgets to the doctors, not to the administrators who are an
unwanted overhead. This is the very first step we should take.” The nursing managers
agreed and the meeting came to a slightly acrimonious and early conclusion.

Meeting three of the steering group (meeting 3)

At the third meeting, a presentation was made by the IT consultants, Eurotek, where they
demonstrated their software for recording business activities and showed Row these
activities could be measured against agreed targets. A great deaI of di Kk place
on the targets that could be set for measuring health efficie heated debate,
three measures were agreed for hospitals. It was s rx n‘\llar measures should be
discussed and developed for health r c rV|ces uch as health education.
However, at this point, the two s eclared @ad to leave the meeting
s’

to ‘return to our real_ﬁxq patlent e that the health service
support work d ektadblis the| o s fore the next meeting. One of these
re mente ay ~to-day job | am confronted by many people

gé\/e prevent % eir problems are due to poor diet and unhealthy habits.
Preventing such p st be better than curing them!” The CEO agreed; this was
what he wanted to hear!

Meeting four of the steering group (meeting 4)

The fourth meeting of the steering group began with a discussion of the preventative
perspective of health raised by one of the health service support workers at the end of the
previous meeting. Both the hospital doctors and nursing managers suggested that this did
not come under the revised definition of health used by the steering group, and the CEO
quickly agreed. The rest of the meeting was dominated by a discussion of the costs of the
Eurotek software solution. A local newspaper had run the headline ‘spending money on
computers — not patients’ and it included a number of quotes attributed to one of the
hospital doctors on the strategic steering group where he criticised the appointment of
Eurotek and the attitude of the MidShire Health CEO. ‘Running a manufacturing company is
very different from running a health service’, he said. “‘We are motivated by service, not
products and profit.” Terry Nagov, as CEO, openly questioned the ethics of members of the
steering group discussing confidential internal matters with the press. The hospital doctors
and the nursing managers fiercely defended their right to do so. ‘You have to understand’,
they said, ‘our loyalty is to the profession and to the public. We must act in the public
interest.” Nevertheless, the CEO raised the possibility of disciplinary action against the
hospital doctor. At this point, the senior hospital doctors and the nursing managers left the
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Dave Deen has an ambitious growth plan, which he intends to achieve through a
combination of internal growth, acquisition and, possibly, strategic alliances. The opening
of further stores in Arboria is providing internal (organic) growth. Much of this drive for
growth is fuelled by a desire to exploit MachineShop’s unique competencies before the
idea is copied, both within Arboria and elsewhere in the world. However, the company is
having difficulty finding companies to acquire, as there are few equivalent companies to
target, either in Arboria or elsewhere in the world. Although MachineShop has never
traded outside Arboria, the search for acquisitions is worldwide, with Dave Deen
particularly keen to explore international markets in his desire to build a worldwide brand.
He has specifically identified the developing country of Ceeland as a potential target,
because macroeconomic trends suggest that a consumer society is emerging there, which is
similar to the one in Arboria.

Ceeland

The government of Ceeland has spent the last decade building an effective road transport
system, supported by low fuel and road taxes which make it cheap to use. The government
has also installed a fast digital communication network, providing broadband internet
access to all of the population. This is important to MachineShop because internet order
placement (either for collection or delivery) is an important part of their business model.
The government has also lifted certain restrictions which had been in place under its
predecessor. For example, it has removed the need for companies trading in the country to
be registered in Ceeland and to have at least one Ceelander citizen on the board. Until
recently, there were restrictions on what machines could be used by domestic

However, these restrictions have also been removed, as part of a gov rge) o ive to
encourage the development of light manufacturing in the t’e one brand of
products already stocked by MachmeShop is made ggjﬁv ased in Ceeland.

Fabrique Regle de Garrido (FRG) 6
Dave Deen has identjfi Wle rn@ s a potential acquisition or
strategic par \Nurrently has 3 ?fgn land supplying large machine tools
custom r products to domestic customers. It has an
S?ct d|str|but|on r?v a saIes team which is experienced in selling to Ceeland
businesses. MachineShOp has the finance (in the form of bank loans and retained earnings)
in place for an acquisition or a strategic partnership. Dave Deen has not yet opened up
negotiations with FRG, but he has extracted some financial information from the company’s
most recently filed accounts (see Figure 1). He has also discovered that FRG is a privately
owned company, with 30 shareholders, including a local trade union. Dave Deen sees the
potential acquisition of FRG as an opportunity to introduce the MachineShop business
model into Ceeland. He fully expects the country to become increasingly similar to Arboria
and so it will be suitable for the sort of service and products which MachineShop offers.
‘Achieving quick, substantial growth through acquisition will give us a powerful bargaining
position. It will allow us to develop economies of scale, including purchasing in bulk to

further drive down product prices. This will help us erect barriers to potential competition’,
he said.

W09’ [ellarewApniseaoseaal)//:dny JSIA 310w PeOJUMOp O |

150 KAPLAN PUBLISHING

join us on facebook @ fb.com/freeaccastudymaterial



To download more visit http://freeaccastudymaterial.com

PAPER P3 : BUSINESS ANALYSIS

Recommendation

On balance, investing in Alpha2 appears to offer the safest way to balance the
portfolio in terms of cash flow whereas Gamma offers the highest growth and profit
potential. The final decision will depend on the risk aversion of the directors.

Social responsibility is the idea that an organisation should behave responsibly in the
interests of the society in which it operates.

The social responsibility implications of the three options given are as follows:
Alpha2

Extending the patent in the way described would delay competitors producing cheap
generic copies. The ethical argument here is that, if 3C invests, then customers would
not have access to cheaper pain killers so, in effect, 3C is increasing the pain of many
sufferers.

However, there are many alternative pain killers on the market, including generic
drugs, so the comparison is really between cheap pain relief and more expensive but
better pain relief.

Beta

The ethical position with Beta is the other way round — one could argue that 3C has a
moral duty to invest in Beta as this will increase the availability of drugs dealing with
serious infection. However, if 3C does not invest in Beta, then there are K

drugs on the market for patients and hospitals are likely to prlorl \; nts
anyway. What investment in Beta is likely to achieve is &’ o'f such drugs

due to extra competition. It could be argu d d allow health trusts’
funds to go further, thus treatlng m @%’
Gamma _‘ 5

The sit W a is ver d| e t ons of people around the world are
i V/AIDS progress is being made with anti-retroviral

P (ﬂgs, Gamma v? r step forward in treatment.

A separate ethical issue is the price that 3C should charge for Gamma. Selling Gamma
at the lowest price possible would ensure greater access to sufferers, particularly in
poorer countries in Africa where the situation is at its worst. A high price would
effectively exclude such people from treatment.

There is thus a major ethical conflict between the higher profits that 3C could earn
for its shareholders verses increased treatment for people in the developing world.
While it could be argued that ‘the business of business is business’ and that it is up to
governments to make funds available to pay for drugs, the ethical argument here is
compelling.

Conclusion

On ethical grounds further investment should be put into Gamma. In fact, the key
ethical argument against investing in Alpha2 or Beta is that they preclude investment
in Gamma. The pricing issue is more complex.
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4 SWIFT Online question assistance

Key answer tips

In part (a), when performing the analysis you should ensure that you include both financial
measures and non-financial measures. Try to take a structured approach to your answer by
using a strategic model — the answer uses the Johnson, Scholes and Whittington tests for
evaluating a strategy, but other models such as the BCG matrix or Ashbridge portfolio
display would also have been appropriate and scored marks.

In part (b) you need to have knowledge of Porter’s diamond and be able to apply it to the
scenario. This is not a commonly examined area, but this should reinforce the need for
broad syllabus knowledge that is needed in order to pass this paper.

(@) The acquisition of EVM can be analysed using the success criteria of suitability,
acceptability and feasibility.

Suitability is concerned with whether a strategy addresses the issues identified when
considering the strategic position of the company. In general terms the U|5|t|on
appears to make sense. The market is mature and competitive i r&) ushing
down margins. These margins are further eroded by erifm is hostile to
road transport resulting in high taxation on fuel lihked to carbon emission
and restricted working practices T @ M provides an opportunity for
Swift to exploit their core m In a differe %graphical market where
demand is risin Ye@ governm ‘rﬁin% in road infrastructure and
compe g‘w ture. The @ b} the group will further allow Swift to
m sing trucks and other equipment.

Q mles of sc
F ( oncerns ar @L@hty surround the potential clash of cultures between Swift

and EVM. Swift has no experience of acquiring or running foreign companies. It has
no experience of trading in Ecuria. Furthermore, although EVM is now in private
hands, it may be possible that the work practices and expectations of employees may
still reflect the time when they were working for the central government. Although
altering these practices may give scope for even greater profitability, it may lead to
labour disputes that harm the service and reputation of the company. Swift wishes to
acquire this company and adopt the practices, principles and technology of the
Ambion operation. This may lead to conflict that they may find hard to resolve.

Acceptability is concerned with the expected performance of a strategy in terms of
return, risk and stakeholder reactions.

Return: EVM delivers a very similar (18%) Return on Capital Employed (ROCE) to Swift
Transport. This appears to be a strong performance for the sector, and should
certainly be acceptable to the Swift shareholders. The gross profit margin (20%) is
higher than Swift, but the net profit margin (7.5%) is lower. This may support some of
the concerns discussed under suitability. The company may still be carrying high costs
from its days as a nationalised company. Swift presumably believes that it can
improve the net profit margin by implementing competences gained in the Ambion
market.
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Examiner’s comments

Candidates scored well in part (a), with some getting full marks. The only slight
disappointment here was candidate’s reluctance to use the financial data provided in Figure
One of the scenario. This data was important because it revealed two things. Firstly, that
the three companies in the industry were of a very similar size and, secondly, that the
market they were participating in was growing. Both these factors are important when
considering the competitive rivalry that exists within the industry and how incumbents are
likely to react to the threat of new entrants. It was also clear that a significant number of
candidates had not properly interpreted the revenue figures. NESTA is much larger than any
of the companies operating in the market place (indeed it is bigger than the combined
revenue of the companies). However, some candidates suggested that NESTA was much
smaller, apparently confusing $120m with $120,000m. Again this relative size of NESTA and
its potential competitors is important to the assessment of the market place and this
misinterpretation led candidates astray.

For part (b), it can be argued that the term is commonly used in everyday language. For
example; terms such as ‘best-case’ scenario and ‘worst case scenario’ are quite often used
in television interviews and newspaper articles. However, it was clear that most candidates
were unfamiliar with the concept of scenarios, producing answers using a variety of
perspectives and frameworks. Porter’s diamond, the suitability, feasibility and acceptability
criteria and SWOT analysis were just three of the inappropriate approaches used, and all
usually resulted in candidates scoring no marks for this part question. X ‘\[

ISD

NOteSs
id £( oM " BA‘G
Key an e\l\l ﬁ ZIX—’L

7? ion mvoIve

who prefer numerical d estlons A working knowledge of linear regression will be needed,
though students simply had to explain and analyse it rather than perform calculations. But
this may be an area that many students have avoided in their studies (particularly if they
are weaker at calculations). Part (a) on pricing is worth more marks and involves the use of
the 4C’s model and should have been given more focus than part (b).

(a)  This part of the question is concerned with factors that will influence ATL’s pricing of
its e-learning product. It can be answered from a number of perspectives and credit
will be given as appropriate. This model answer focuses on four main areas. Firstly,
the pricing objectives of the company, the overall goals that describe what ATL wants
to achieve through its pricing efforts. The second area is the customer; the value of
the product to them and how many products they are likely to buy at what price. The
third area is the costing approach used and finally, different pricing strategies are
considered. It is argued that all of these areas will need to be taken into
consideration when determining the final price (or prices) of the e-learning product.
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Financial gearing

The two gearing ratios discernable from the extracted information both give cause
for concern. The gearing ratio itself has jumped from 25% to above 43%. The interest
cover ratio has dropped to 2 from 7.5. Again, the sector needs investigation.

Conclusion

The financial figures of RiteSoftware do suggest that everything was not well and that
further investigation was necessary. The figures suggest rising debt, cash flow
problems, lowering efficiency and very poor profitability. Further investigation might
have revealed that RiteSoftware was typical of the industry. However, it might have
also identified the problems that led to the company’s eventual demise.

(b)  The lack of a formal evaluation of the financial figures of RiteSoftware is the subject
of the first part of the question. However, the financial position is just part of the
analysis required of the potential supplier. The question requires FOUR further ways
in which OneEnergy failed to follow a proper evaluation procedure. In this model
answer, the four suggestions are:

1 A failure to investigate the supplier’s organisational structure and ownership
2 A failure to evaluate functional requirements
3 A failure to evaluate non-functional requirements

4 A failure to set proper evaluation criteria and follow a selection pro
However, other appropriate suggestions made by the \ndldae®> L&n credit

Organisational structure and ownership

The evaluation should have ﬂ |nvest| ti into the structure of
RiteSoftware, its gm irectors. s @ iry at Companies House
pn

(for exam reveal agfng director of RiteSoftware had
\ﬁ Wme as the HR diy ? OneEnergy. The HR director could then have
P (@ \ds ed as felated to the managing director of RiteSoftware. Of
course, there een no impropriety intended, but the fact would have come

to light and been considered in the evaluation. Many organisations will either not
procure from companies where directors and senior managers have relatives or will
ask for that information to be disclosed by the supplier in order that it can be
weighted in the evaluation of alternative suppliers.

Functional requirements of the software

The evaluation process did not formally define the functional requirements of the
required system. The scenario mentions that three months ago, another set of
amendments was requested from RiteSoftware to allow one of the divisions in
OneEnergy to pay bonuses to lorry drivers in a certain way. This functional
requirement should have been defined in advance in the process and it would have
then been compared with the functions offered by the package. The gap between
requirement and package could then be evaluated in advance. This allows two things.
Firstly, the match of functionality and package will form part of the evaluation. It is
not expected that every function requirement will be completely fulfilled but the
degree of compromise has to be assessed in some way. Secondly, an understanding
of the gap allows the compromise to be managed in advance. For example, in the
context of the pay for lorry drivers it might have been possible to change the pay
structure in such a way that rewarded the drivers but avoided the expense of
commissioning and maintaining software amendments.
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Non-functional requirements of the software

Many software packages do actually offer most of the functionality that the users
require. However, how they deliver that functionality is very important and usability
can be a great differentiator between competing packages. In the scenario, it seems
clear that non-functional requirements such as user-friendliness have not been
considered properly in the evaluation. If they had been then it would be unlikely that
users would have problems understanding some of the terminology and structure of
the software. Problems leading to comments such as ‘it just does not work like we
do’ should have been identified in advance. Understanding user competencies and
expectations would allow the gap between users’ ability and the requirements of the
package to be properly assessed. This measure would be part of the evaluation.
Again, if the package is selected, the gap can be planned for in advance so that the
extra training costs, alluded to in the scenario, are budgeted for at the outset.

Evaluation criteria and process

Finally, the scenario suggests that the board decided to purchase the RitePay
software package without evaluating alternative solutions. It was felt that payroll
rules and processes were relatively standard and so there was no need to look
further than a package recommended by the HR director. Certainly, the discovery
that the HR director is related to the managing director of RiteSoftware now puts his
impartiality in doubt. Furthermore, subsequent requested amendments to the
functionality of the package suggest that OneEnergy’s payroll rules wereynpt as
standard as expected. However, the real problem with choosing one sqlut mout
evaluating alternatives is that there is no auditable evid d‘the supplier
and the product were selected. At best this looks e&at‘worst it might cause
concern to the non- executlve m aSard and_ its internal auditors.

W09’ [ellarewApniseaoseaal)//:dny JSIA 310w PeOJUMOp O |

OneEnergy is a plc. The scen hat the @‘ oes have a policy on
competitive procurﬁg i¥ing |t raises (tb‘&: % impropriety, reduces the
opportu:m W ing a go Id attract the attention of non-
(eé\,/ ors and ot s akeholders.
' " ACCA marking scheme
Marks
(a) Up to 1 mark for each non-ratio based observation up to a maximum of 5
Up to 1 mark for each ratio based observation up to a maximum of 5
Up to 3 marks for summary and integration of answer, giving a maximum
of 13
(b) Up to 1 mark for each relevant point up to a maximum of 3 marks for each
failing. Four failings required, giving a maximum of 12
Total 25
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Part (b)

Having assessed two acquisitions that had already taken place, students were asked to
assess a third proposed acquisition.

Key to success:

Apply the same techniques that were used in part (a). So use the same model and include
financial analysis. Students could also have used the suitability, feasibility, and acceptability
approach suggested by Johnson, Scholes and Whittington

Make a recommendation as to whether the acquisition should proceed and justify it. It
doesn’t matter whether you think the acquisition should go ahead or not, as long as you
have an opinion one way or the other and can back it up with sensible analysis.

Dangers:

The examiner complained that some students didn’t include any financial analysis. This
would have been a major error given the amount of financial information included in the
question and the approach taken to part (a).

(a)  First Leisure

The initial motivation for the acquisition of First Leisure was the need to diversify out
of a declining market place (falling 5% over the recorded period) into an expanding
one (increasing over 25% in the recorded period). The cash generated the
quarrying company was used to purchase a profitable, well- run m ™ an
expanding market. Diversification was a direct response ntal changes.
Increased costs and falling reserves meant th t ‘E]%ance of finding new

sites in its core market. MMI initi @ anage roIe in First Leisure,
allowing the managers who cessfgit unnlng the company.

However, buying a ﬁg erned ith red to be an example of
unrelate{‘e n and t ’g_
ial

e negatlve comments about the
i om of this

P (;fter a perlod o) @lon certain unexpected synergies emerged that had not
been clear at the time of acquisition. These came from the conversion of disused or
unprofitable quarry sites into leisure parks. This conversion was doubly
advantageous. In the first instance it reduced the operating costs of MM, allowing it
to shed costs associated with running unprofitable mines and maintaining security
and safety at disused sites. Secondly, it allowed First Leisure to acquire sites relatively
easily and cheaply in an environment where it was becoming more expensive and
harder, because of planning restrictions, to purchase new sites. Johnson, Scholes and
Whittington discuss the principles of economies of scope where an organisation has
underutilised resources that it cannot effectively use or dispose of. It makes sense to
switch these if possible to a new activity, in this instance leisure parks.

The turnover of First Leisure has doubled in six years. The figures summarised in
table 1 suggest an expanding company in an expanding market and its market share
continues to grow (up from 13% to 21% in the recorded period). Furthermore, gross
profit margins have remained fairly constant but recent increases in the net profit
margin suggests that costs appear to be under control, despite the recent issues
concerning the supply of boats from Boatland. In corporate management terms MMI
probably perceived that it would initially be playing a ‘portfolio management’ role at
First Leisure. However, the discovery of unexpected synergies has led to it adopting
(and perhaps claiming in hindsight) a synergy manager role. In terms of the BCG
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reporting lines — one to functional departments and one devoted to specialist
products or teams. In the case of ALG Technology there will be a team focused
around each specialist product group and each team will have representations from
the various functional areas.

The advantages of a matrix or project team structure are as follows:

PY

A

The teams do not lose sight of their long-term objectives. They can remain
more focused.

There is more integration between the differing functional specialists — they
become inter-disciplinary, resulting in greater co-operation and understand
opposing or alternative opinions.

Such a team is more responsive and flexible to environmental and technical
change, so important for a company such as ALG. Because the team is now less
bureaucratic and more focused, outcomes are much quicker as the
bureaucracy is now replaced by a direct interplay between specialists — the
interested parties.

No one single functional area is likely to dominate. In a company such as ALG
there is a danger that the views of scientists and engineers may triumph at the
expense of prudent financial advice and market needs may also be ignored.
There is a danger of the company becoming too product-orientated.

Because staff are more directly involved in planning, control and decision
making they become more motivated and committed — a key benefitﬁany

aluable and ‘rounded’

company. u

Junior staff experience a wider range of inputs fro ae/ Ggrﬁm of areas.
They lose their specialised isolation a "’\

employees. This provides ﬁ@kéﬁ pIatfoG for future general

managers. m A
Experie ncei r(@ ect tegcao'*lly d quickly be transmitted to
Because o t agrepresentatlon within the teams there is a potential for

conflict between project managers and functional heads.

The two reporting lines can lead to confusion for members of the team. Where
does their long-term future lie and where is it being determined?

There is increased complexity in reporting, making such a structure costly to
administer.

Decision making can be slower and not be more responsive if every participant
insists on full participation. This is a problem with all democratic and
participatory organisations, as has been experienced by a number of Japanese
companies.

Because of dual reporting, there is a problem of allocating responsibilities.
Who is in charge?

This proposed new structure may lead to a dilution of priorities, particularly in
resource allocation.

As a guideline for organising innovative project teams it is essential that structures
should be flexible so as to encourage experts to break through conventional
boundaries into new areas. There should also be leadership within the team of staff
with a good technical background (expert power) and the team should not be
dominated by superiors armed only with authority (position power).
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(b)  Organisational design can be influenced by many factors which can generally be
divided into two categories — internal and external influences.

The internal influences comprise:

P \ e\, \smauer

Poor performance in the past. If a company has had difficulties such as are
currently being experienced by ALG Technology then it is not surprising that it
is considering a change in its organisational structure.

If a company is now heavily influenced by entrepreneurs and innovators, a
more flexible structure would be welcome. A ‘machine bureaucracy’, which
might be what ALG Technology has become, would not be sympathetic to this
type of employee. An adhocracy or an entrepreneurial structure might be
more appropriate. (Mintzberg)

A change in organisational ownership would inevitably have given the new
shareholders a greater say on matters such as organisational design. Design
will be more influenced by their management philosophy.

There may have been a change in organisational goals. If quality of delivery is
now given greater priority than product performance, as in the case of ALG, a
structure more oriented to marketing might now be encouraged.

A change in strategy will also help to influence the design of the organisation.
If the company intends to compete with low prices then costs will now become
critical. It is likely that there will be a more mechanistic approach to the
structure with less focus on the individual. However with a diffgrgntiation
strategy there is a potential for more mformahty, with m Q aking
being devoted to junior managers. This will be e@ﬁe‘s ureaucratic

organlsatlonal structure.

The external factors that might nﬁ |ona d ign are as follows:
A change i wf& ilable to ac crease in the availability
and I|c%{ infor now enables organisations to
ater control an?{ |cat|on W|thin an organisation while having a
complish these functions.

Econo apgumtles may change: the globalisation of markets will
necessitate a change in organisational structure to reflect and respond to
these changes. In certain parts of the world barter has been re-introduced
because of shortages of liquidity within the banking system. Organisations
must build into their structures recognition of this ‘problem’. Certain
companies have had to create whole departments to respond to this condition.

Socio-demographic changes: as organisations now operate in different parts of
the world, each with different demographic and social regimes then
differences such as attitudes to older people working, women in management,
educational abilities matching requirements and labour force availability can
all influence the design of organisational structures, resulting in more flexible
and responsive organisations suiting local needs and cultures.

Ecological considerations: ‘Green’ issues are becoming more significant in
importance. Decisions on purchasing and distribution will be influenced by this
and these, in turn, may affect the organisational structure. ‘Just-in-time’ supply
techniques may be affected here (although just-in-time may be driven more by
economic rather than ecological consideration).
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Examiner’s comments

Unfortunately, in part (a) too many candidates just read the first few words critically
evaluate the decision and so the focus of their answer was on the decision itself (made
without consultation, made without understanding requirements), rather than on the
decision to follow the software package approach as a whole. It was agreed that credit
should be given for this alternative interpretation of the question, but it must be stressed
that candidates must carefully read the whole of the question and determine what is
required in the context of the scenario. As one marker commented, ‘it is as if they have
read the first few words of the question and then dived into an answer’.

Part (b) was relatively straightforward, asking candidates to analyse how a formal process
for software procurement, evaluation and implementation would have addressed the
problems experienced in the production process project. However, as in question three
(see later notes), too much focus was on describing a process for software package
procurement as opposed to how it would address the problems experienced by the
company.

INFORMATION TECHNOLOGY

26 PERFECT SHOPPER m Walk in the footsteps of a top tutor u\k
_\e CO-
oes*
Tutor’s top t:ps \L\l "( O /( 6 @)
o, estion 2
ﬁ (ways you start@&g?eﬂrst paragraph only the following can be determined:
the key competitors will be supermarkets
° it is a franchised network of local shops, with Perfect Shopper selling to the shops,
who then in turn sell on to the public
. it is competing at the low end part of the market and aiming for economies of scale
° it uses large central warehouses
° suppliers deliver directly to these warehouses
. there are no own-branded goods.
Now look at the requirements before reading the rest of the question. This will ensure that
you
. read the question in the correct manner,
. do not need to read the question more than once,
° save time and can begin planning.
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ANSWERS TO PRACTICE QUESTIONS : SECTION 3

Suggestions for improvement might include:

As mentioned in the answer to the first part of this question, procurement
continually uses the same long-established suppliers (for example, 95% of timber
comes from three established suppliers). These suppliers may have become
complacent and uncompetitive. The company might consider using e-procurement
websites to identify a wider range of suppliers and then select between these
suppliers on the basis of cost and quality when placing individual orders. Such an
approach should help drive down raw material costs and re-focus the costs and
service offered by the established suppliers.

Although the purchase orders are placed through email, the ordering process is
relatively cumbersome with suppliers occasionally failing to respond to emails or,
when an expected delivery is not received, claiming they did not receive them in the
first place. The payment system (operated by accounts) sometimes fails to match
purchase orders with supplier invoices, leading to delayed supplier payment and
discontent. The company might consider a new system to administer purchasing and
payment, linked electronically (through EDI) to the suppliers, so that orders are
automatically entered into the supplier’s system and all invoice reconciliation and
payment is performed electronically. This may require the company to continue to
trade with a selected number of small suppliers, but it should help avoid non-
delivery, reduce administrative costs and improve supplier relationships.

To avoid delays through inventory shortages, linkage with supplier syste ight be
increased by allowing suppliers to see the demand for certai WKO that
suppliers can, to some extent, anticipate demand a @e‘a e to supply
more quickly. This would require further |nv n&ﬂed it seems likely that it
would work better for certain r W othe For example, the textile

d%rent patterns and adjust

suppliers would be able to e dema foA
their productlonﬁ |s should Iﬁ;s (o} ox Direct achieving a higher

well as reducing delivery lead time.

Percené\rq: d custo % rdat
inte ra WZ’( e promise of better inventory management, with

P( the opportu@ I|ers effectively producing to order rather than to stock,
which is, in effect, an extension of what Jayne Cox Direct is doing. Closer integration
of customer and supplier systems also provides the opportunity for ‘just in time’
manufacture where raw materials arrive just before they are needed in the
production process. Although this transfers inventory costs to suppliers, more
understanding of demand should mean that suppliers’ inventory management is also
more effective. Reduced inventory costs for the supplier might also be passed on to
Jayne Cox Direct, resulting in lower input costs. An understanding of demand and the
relative costs of storage and ordering should also allow Jayne Cox Direct to
implement systems that optimise order quantities (the EOQ model).

Downstream supply chain solutions

Downstream supply to customers is relatively simple as there are no intermediaries,
as the company supplies directly to the consumer. However, evidence suggests that
some consumers are relatively disaffected. A further challenge cited by Dave Chaffey
is relevant here, the need to improve aftersales/post-sales operations (service on the
value chain). The company also needs to consider the costs of finished goods storage
(outbound logistics), distribution to customers (outbound logistics). Furthermore,
although processing orders is relatively effective, customers feel uninformed in the
period between order placement and order fulfilment.
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(b)

The director of IT is keen to exploit the opportunities of web services and cloud
computing but has not been able to recruit someone of sufficient calibre. As he says,
‘there are probably other technologies that | have not even heard of that we should
be exploring and exploiting’. An outsourced IT supplier should have a much greater
range of knowledge and skills that it can then make available to its customers. It will
be keen to be at the leading edge of technologies, because these technologies offer it
possible competitive advantage, and so it will bear the cost of recruiting and
retaining specialist employees.

Finally, the chief executive recognises that outsourcing IT is likely to be a model
followed by other authorities. The formation of a separate company in which the city
authority has a significant stake might provide an appropriate vehicle for gaining
contracts with other authorities. They might be particularly attracted to working with
a company which has significant public sector expertise and ownership. Profits made
by the company may be distributed by dividend to the authority, bringing in income
that can be used to reduce taxes or improve services.

In the past, business analysts have been employed within the IT department. It is
proposed that these analysts will now move to a new BA department reporting
directly to the chief executive. Their brief is ‘to deliver solutions that demonstrably
offer benefits to the organisation and to the people of the city, using information
technology where appropriate’. They will be responsible for liaising between users
and the new, outsourced IT company. The business analysts will have to establish
credibility with the user departments, demonstrating the role and contrlbm f the

business analyst role. The question focuses on new or enhance s they
will need, rather than generic skills such as ‘good co atis# skills’ and ‘team
working’ which they would have needed wh e ed in the IT department.

Competencies they will req Wg t 5b

Strategy analysjs TH&/ et iern usiness focus which, at the

very @N pportunltl der environment. The CEO expects them
s rained by current process and technology’.

crq tward o
P echniques suc aIyS|s might be useful here.

Business case development The absence of cross-charging suggests that business
cases were relatively simple in the authority and it appears that business analysts
were not involved in the process. In the new arrangement, agreeing the business
case becomes their responsibility and so they will have to liaise with users to ensure
that benefits are properly defined. If the solution requires an IT element then there
are now very tangible costs which will be charged by an external supplier. This is
particularly significant if software is involved. The supplier will need well specified
requirements to estimate from. Costs and benefits will have to be compared using an
appropriate approach. The business analyst will also have to participate in benefits
realisation, assessing whether the promised benefits had actually been delivered at
the cost envisaged in the original proposal.

Business process modelling The business analysts must be prepared to come up with
solutions that do not include information technology. For example, they might
suggest a small change to a clerical business process that delivers significant benefits.
It is unlikely that they would have formulated such solutions when they were part of
the IT department. Business process modelling and redesign skills will be needed to
facilitate this.
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ANSWERS TO PRACTICE QUESTIONS : SECTION 3

Requirements definition Requirements definition would have been an important part
of the business analysts’ job when they were in the IT department. However, the
scenario suggests a relatively flexible relationship with users, with changes to
requirements being accommodated right up until software release. Although the
outsourced IT supplier may take a similar approach, changes will be charged for.
Hence in the outsourced arrangement there will be a need for business analysts to
define requirements more completely and also to manage changes to those
requirements. The detailed definition should also allow them to resolve issues where
there is debate over whether the change is actually a change or is what was specified
in the first place. The business analyst may also be involved in testing the solution
received from the supplier.

Procurement The relationship between the city authority and the IT provider is now a
supplier—customer relationship. The business analysts will have to gain supplier and
contract management skills, allowing them to successfully manage this relationship.

ACCA marking scheme
Marks
(a) 1 mark for each relevant point up to a maximum of 12 marks. 12
(b) 1 mark for each relevant point up to a maximum of 7 marks. 7
Total 19
A\

FD

Examiner’s comments O ‘U (

The first part of the question asked candldates to aﬁ&@ potential benefits of this
outsourcing to the city authority an (gs ost_candidates answered this
relatively well, although many dje\ n ise that ﬁ@tlon of a joint company
might itself brmg sig ges to the 6 e formation of a separate
companydn {‘y authon %@ stake might provide an appropriate
ve \go contrac s blic authorities. They might be particularly
to wor pany which has significant public sector expertise and

ownership. Proflt e company may be distributed by dividend to the authority,
bringing in income that can be used to reduce taxes or improve services.

The scenario acknowledged that business analysts within the city authority will need to
gain new or enhanced competencies. The second part of the question asked candidates to
analyse these competencies. Some of these were clearly signposted in the scenario; for
example, strategy analysis and business case development. The need for a formal
relationship between the authority and the outsource provider leads naturally to a
discussion of requirements definition and procurement. Thus it should have been
relatively easy to identify competencies around strategy, business cases, requirement
definition and procurement. Two marks for each of these should have resulted in full
marks for this part question. However, in practice, this was not the case. Many candidates
failed to identify any relevant competencies (falling back on generalisations such as ‘good
communication skills’) and hence did not score well in this part question.
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ANSWERS TO PRACTICE QUESTIONS : SECTION 3

(b)  Marketing mix

In this part of the question you are asked to use e-marketing. You should be able to
distinguish this clearly from part a) of the question and not mix your answers together
— part a) wants you to explain e-marketing (this will focus on its differences and
benefits), part b) then wants you to use it (this will focus on practical suggestions for
AEC). The most appropriate model will be the 7P’s model and you could approach this
in the same way as part a) — set could set up a planning page with the 7P’s listed out
and then add points to this plan as you read the question.

Reading the question

Now actively read the question i.e. as you read it you should add all relevant points to your
planning page(s).

The key issues to pick out from the question as are as follows:

. AEC provide three products — training for professional examinations, material for
these courses, and CPD courses. So part b) of your answer should explain how to
market each of these courses/products.

. AEC have recently won a large, new customer. The impact on this customer should be
considered in both parts of your answer.

° The company are planning to switch from traditional marketing to e-marketing but
won’t do both — there is only a 3% overall increase in marketing forecaste erefore
you need to make clear in part a) that the e-marketing benef/ k%?we/gh
the loss of the traditional marketing channels. \

Answering the question

Part (a) 6I’s m NO 5
As stated, lf you m‘eﬂﬁlx Qerstood %p ﬁth inal paragraph of the question,

ark or two f that the e-marketing benefits will have to

then thﬁx
)x hé loss o ,@ ag eting channels. But there are plenty of other marks

L available if this poi

There are 10 marks available and if you work to the normal rule of 2 marks per well
explained point then you only have to cover 4 or 5 of the 6I’s. The key issue will be to relate
the model to the scenario (for example, by referencing the win of the new, large client).

For example, using independence of location, traditional marketing can be used to target
customers in all parts of the world. But AEC could expand this through e-marketing by
allowing these customers to also book courses online — something that isn’t happening at
the moment. So e-marketing should make it easier and therefore more attractive to
customers to choose AEC as their training provider. It should also reduce administrative
burdens for larger clients and might allow AEC to attract more multi-national customers.
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Product

The product is a fundamental element of the marketing mix. If the product is not
‘right’ it is unlikely that the marketers will be able to persuade customers to buy the
product or, if they do buy it, to convince them to become repeat buyers. In the
context of the new technology, an organisation may seek opportunities for
developing the product or service. These opportunities emerge from re-considering
the core product or identifying options for extending it.

In the context of AEC the consideration of the product is complicated by there being
at least three products promoted on their web site; training courses and training
manuals for students studying for professional qualifications and training courses for
qualified accountants undertaking continuing professional development (CPD). The
course training manual is a tangible physical product that can be handled before
purchase. Potential customers can try before they buy because a sub-section of a
manual is available for inspection. This is an admirable policy. Potential customers do
not have to believe that the manuals are comprehensive and well-written; they can
make their own judgement based on a sample. In contrast, the training courses are
services, bought on the promise of satisfaction.

AEC might profitably consider delivering elements of both student and CPD training
courses through web casts and pod casts. Such courses might be fully on-line or the
new technologies might be integrated with older ones, such as workshops and offline
assignments, to provide a blended approach to learning. This may be par"c:larly

appropriate for student tuition where competence is assessegab al
examination, not by attendance at a course. AEC is glr, dy@}@tﬁing course
catalogues and course schedules through the Inter ?&\Q& there is no physical
evidence to support the customer’ | courses. AEC might consider
having sample videoed sessiong-qval\ad Q the we A%rospectwe customers
can assess the cont V@@:h to tralnl %
AItho umentatlorg y ava|IabIe through the web site it could
students pay a fixed fee which gives them access

c m re fo u
E o the whole S? als However, manuals for modules at the end of the

scheme will only be relevant if the student passes the earlier modules. Lack of
confidence may deter the student from committing to the whole manual set at the
beginning of his or her studies. Similarly, candidates who become aware of AEC
products only after they have passed the first few modules are unlikely to pay a fee
for a manual set which includes manuals for modules that they have already passed
or for which they are exempted. Consequently, it would appear more sensible to
allow candidates to select the manuals they require and pay a fee per manual, with a
discounted fee for buying the whole set.

AEC might also wish to consider product bundling where it offers further products
and services to complement its core products. For example, travel booking,
accommodation services and entertainment bookings might be offered to qualified
accountants attending CPD courses. AEC is also in a market place where the product
needs to be continually updated and developed to reflect changing or clarified
requirements. For example, new training manuals may need releasing every year.

Price

The Internet has allowed pricing to be much more transparent to potential
customers. They can easily visit the sites of competing companies and compare
prices for similar products and services. Such accessibility may deter AEC from using
the web site to offer differential pricing. The Internet makes products available
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35

BA TIMES

Key answer tips

Part (a) of this question should be familiar to well prepared students. Part (b) is very open
ended. Guidance was given to students in the form of specific issues that the editor was
concerned about and these should hopefully give students some focus to their answer.

(a)

Pre

Victor urgently needs to revisit his business model to look at the opportunities
presented by new technology and new media. Revenues from his current business
are falling due to reduced advertising spend and fewer subscribers. On the other
hand, production, distribution and office costs are increasing. These problems are not
unique to the BA Times. The sales of printed magazines and the profits of publishers
are falling dramatically throughout Umboria.

Perhaps because of his conventional publishing background, Victor still perceives his
core business as the publishing of a printed magazine. The BA Times does have a
website, but it is designed to provide tempting tasters for the magazine, running
extracts of stories that can only be read in full by people who subsequently buy a
printed copy of the magazine. Thus the website is seen as a way of marketing the
magazine and, in itself, provides far fewer services and informatio an the
magazine. Emerging technology provides Victor with the opport mlt this
business model in the context of four of the ‘6ls’ of rkéti n‘dlwduallsatlon
interactivity, intelligence and mdependence of I ‘é

Individualisation

A survey of people vmmncwenewed ‘ %A@ion revealed that some
t he

subscrlber liege o much information which is
m em. One respog mented that, ‘1 am studying the ABC syllabus

in-de topics and examinations are not relevant to me. |
quite enjoy mnews parts, but not the in-depth analysis of examinations
that | am not taking.” One ABC candidate remarked that, ‘I have reached the final
stage of my examinations. | do not want to read articles about the stages | have
already passed. | reckon only about 15% of BA Times is relevant to me now.’

A key feature of the new technology and media is the opportunity to individualise or
tailor the product to meet specific requirements and for that tailoring to be driven
and performed by the customer. So, for example, if all the resources are made
available on a website, the customer only needs to access those resources that he or
she wants. This can be achieved by him or her just ignoring menu options for other
institutes or examinations or, more innovatively, by configuring the website so that it
just reflects an individual’s interest (myBATImes). Furthermore, through registering
interests either directly on the website, or through linked social and business
networking sites, the candidate can be kept informed of articles, news, comments
and blogs relevant to their interests, institute and examination stage. A centralised
website resource would allow Victor to expand the number of relevant resources
available (which he is under pressure to do) without making his printed magazine any
larger or more expensive. He can also supplement conventional text articles with
webcasts and podcasts. If the candidate wants a hard copy of any article, then he or
she can locate it and print it out, thus transferring printed costs to the subscriber.
The website should be considered as a comprehensive knowledge centre where all
relevant resources are stored.
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(b)

The provision of delivery placement and tracking is, at the moment, an important
element of customer retention. However, in a wider sense the company’s website
has to be reviewed to see if it can be harnessed to acquire further customers, to
enhance the service it offers (above and beyond placing and tracking deliveries) and
also to assist in the long-term retention of customers. It must be recalled that the
present website is only used for information purposes. It only contains information
about the company: its structures, history, key contacts and case studies. However, it
must also be recalled that CT only deals with a relatively small business market. In
B2B applications there tends to be far fewer but larger buyers (Chaffey, 2007).

Customer acquisition

The scenario suggests that chemical wholesalers are CT’s current customers. The site
should be constructed with their interests and requirements in mind. Evidence
suggests that CT has recognised expertise in the difficult and dangerous task of
chemical distribution where there is a need for compliance with stringent and
emerging legislation. The website needs to provide examples of this and also
constant updates which tempt people to return to the site to view the latest
information. CT does not have to reveal its complete expertise. However, regular,
selected updates on new legislative requirements and new chemical distribution
challenges may prompt return visits and so increasingly suggest to potential
customers that this is a business avenue that is worth exploring. The case studies
already on the website will strengthen the message of expertise and also

demonstrate to potential customers that outsourcing to CT will have bo ness
and financial benefits. Testimonials from established customers wj ﬁ) his
message. It has to be recognised that it is a B2B webs 0" contract or

purchase will be entered into as a result of t eaeﬁ It is about building up
confidence and information that m beln de between CT and a

potential customer. Overall ould naI and business-like

and appropriatel mg cus W|sh certain information to

be glv \P] |tseIf :é' oo much valuable information to
e of current customers.

‘c bout |ta
P is also |mpor gotentlal customers find the CT website when they are

looking for information or for a potential haulier. Although it is less important than in
a B2C website, it is still helpful if CT ensures that the website is optimised so that it
appears high up in website searches. This is not easy to reliably achieve and so
purchasing sponsored links can also be very valuable. The website address also has to
be promoted in any offline marketing undertaken by the company. Again, it must be
recalled that CT must have a relatively finite set of potential customers. These should
be relatively easy to target with marketing information and sales calls that will
include the website details.

CT may also benefit from collecting details about the people who are visiting its site.
This may again be achieved through offering selected information only to visitors
who leave their email address. So, although some technical information might be
offered for free, other information — such as important changes in international
legislation — might only be available to visitors who have provided their email details.
These email details may just be used as part of an analysis (which companies are
looking at us) or they might be used to target future promotional campaign.
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INSTITUTE OF INDEPENDENT ANALYSTS

Key answer tips

In part (a) weaker students may spend time checking or performing unnecessary
calculations. Instead, better answers will focus on whether the information used in the
calculation should have been there and they will apply the Ward and Daniel benefits scale
to the numbers.

Part (b) requires a mixture of knowledge and application, but, as a key exam area, these
should be areas that students have spent time on during their studies and should not cause
too many issues (assuming that students do not become too bogged down in part (a) of the
question and leave enough time for this part of the question).

(a)

Py

oxl) el

Overview

The table presented in the scenario suggests that the project is currently financially
viable. It returns a net present value of $10,925. However, the basis of the discount
rate selection could be questioned. Although there is little information in the
scenario about this, it might be felt that it has been set artificially low to produce a
positive NPV. Also, the duration of the investment appraisal is qmte lang (seven
years). Three and five year appraisals are more common. So a of this
could be questioned. Perhaps seven-year investment dséagn‘?non at the lIA,
but this needs to be investigated and conflrré \é

It would also be beneficial to pe@r@s ivity anglygi3 on the data. A relatively
small change in t% mtj tof the software_ﬁ % negative.

Although the oft 9 ckage has a fixed cost, the IIA wishes to make a number of
significant bespoke amendments. The actual detail of these amendments is still
under discussion. They are currently estimated at $25,000 and this cost is part of the
year 1 payment. However, this estimate may change once the detail of the
requirement is agreed. The IIA must keep bespoke requirements under review to
ensure that costs do not rise substantially, invalidating the financial business case for
the investment. The scenario also suggests that there are problems in defining the
detail of the requirement and these may lead to project delays, meaning that
benefits may not begin to accrue until year 3 (or beyond), which will seriously affect
the financial viability of the project. The final delivered cost of the project will also
determine the maintenance cost, as it is calculated at 10% of the final delivered
software cost. So, an increase in the initial cost of the software will also have long-
term implications which may again affect the overall viability of the project.

Costs
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Summary

There is a strong argument for taking disruption costs and increased student
numbers out of the financial appraisal of the project. It is difficult to put credible
values on these in advance of the project. The effect of doing this (for information) is
shown below.

<>

Tutorial note

The answer provides a revised NPV calculation but this is there to aid the
understanding of some of the points made in the answer. It was not expected that
students would do this, and no marks are awarded for it.

All figures in $000s

Year 0 1 2 3 4 5 6 7
Costs

Initial software 200 200

Software maintenance 40 40 40 40 40 40
Question bank 50 50 5 5 5 5 5 5
Security 20 20 20 20 20 20

Total costs 250 250 65 65 65 65 ﬁ ‘L 65

Income/Savings
Marker fees 0 0 125 125 125

Admin saving 0 20 6 30 30 30
Total benefits O 155 155

Benefits — c \, e 90 90 90 90
Dls 0. 794 0735 0681 0630  0.583
tv ue (2 a( .98) 77 13 7146 6615 6129  56.70  52.47

Net present value (77.78)

The net present value is now less than zero, so there is no financial case for the
project. However, this does not mean that the project should not go ahead. IIA
management may feel that intangible benefits make the investment worthwhile and
so the project may be progressed.

(b) A benefit owner is someone who has responsibility for defining, agreeing and
delivering a benefit defined in the business case. Without benefit owners, benefits
are unlikely to happen. It is very unlikely that the project manager responsible for a
change project (as alluded to by the IIA director) would be the benefit owner. Their
responsibility is to deliver the project, not to operationally run the outcome of the
project. This must be the responsibility of the business and so the benefit owner
should be a person who has authority to make business decisions which help deliver
the benefits. Many projects which have promised cost savings have not delivered
them because no-one had responsibility for making those savings. It is very important
that the IIA appoints a benefit owner for the administrative cost reductions. First,
because the extent of those savings cannot be reliably estimated due to problems in
requirements definition and, second, because someone has to actually make these
staff cuts when the new system is in place to deliver the benefits promised in the
initial business case.
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P

(b)

Project roles and responsibilities

Although it is not clearly stated, it appears that the sponsor of the project is the MM.
However, at one critical point of the project the RP makes a decision to accept a
design (meeting 4) which is subsequently overturned by the MM. This confusion of
responsibility causes both cost and delay. If project roles and responsibilities had
been properly defined, then it would have been recognised that the RP did not have
sufficient authority to sign-off deliverables. Furthermore, the formal allocating of
roles would have also meant that a project manager would have been nominated
with the responsibility of delivering the project. In the scenario there is never any
clear indication of who is playing the role of project manager and this is a major flaw.

Resources committed to the project

There is no evidence that the resources available to the project had been identified
and documented at the start of the project. Problems only begin to emerge late in
the project when the Board’s decision to launch on 1 March prompts the TD to
express concern that there are not enough developers to deliver the system on time.

Risks and assumptions associated with the project

Most project management methods suggest that risks should be formally
documented and managed. Each risk is identified and its potential effect quantified.
For each significant risk, avoidance actions are suggested which are steps that can be
taken to prevent the risk from occurring. Mitigation actions are also defined

risk. These are steps that can be taken to reduce the |mpact of the rlélf m

Again there is no evidence to show that this has been do erged in
the project they were dealt with on an ad hoc b Eratlon of risk at the
outset of the project can lead to ch n ro ect is conducted. For

ments %e prompted a more

example, the risk of poor
formal definition ofﬁ mcope (an av
ufe and arra anagement control

Inltla\i
n'initial eaﬁ@ crlblng how the project will be broken down into
to

stages with an a f project milestones. It is a very high-level plan which
provides a context for the detailed plans that will follow. There is no evidence of such
a structure in the website re-design project and so the absence of detailed planning
(see below) goes unnoticed. The project initiation document might also include
management control information concerning, for example, progress reporting and
monitoring arrangements. If these had been defined in advance then their absence
(see below) would have been clear in the actual project.

Effective project management could have improved the conduct of the website re-
design project in the following ways:

Detailed planning

During the delivery of the project the lack of a formal detailed plan means that there
is no baseline for review and control. The absence of monitoring progress against
that plan is also very evident. The meetings are events where, although progress
appears to have been made, it is unclear how much progress has been made towards
the delivery of the final re-designed website. Effective project management would
have mandated the production of a detailed plan. There is no mention of a project
plan, a critical path analysis, a Gantt chart or supporting project management
software.
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v

Private sector courses should generate extra value added, which can then be
used to pay for more staff and equipment.

The value added by research activities could be measured by looking at the
number of articles that the institution’s staff have had published in academic
journals.

Targets can be set for the value added to be achieved each year, and actual
value added compared with the target.

Profitability

The profitability of private sector courses can be measured. The usefulness of
profit measures will depend on the extent to which costs can be directly
attributed to private sector courses. If large amounts of cost are
apportionments of shared costs, such as costs of administration and teaching
staff and establishment running costs, then profit measures might be of limited
value.

The non-current assets of the institution may have been provided by the
government many years ago, perhaps for free. It would assist the calculation of
genuine profitability if fair values could be assigned to these assets for this
purpose, for example to estimate a fair depreciation charge.

It is important that private sector training does earn extra money for the
institution, and measures of contribution earned from these activities and

directly attributable profit would certainly be useful.
As the institution develops its private sector training progranﬁs F%sfor

Return on investment

profitability should rise year by year. \e

Return on investment is co red |n tlng terms as profit

divided by ca wfﬁ\ The advanta § erformance measure,
compa * iS that @ rofit earned is related to the size

qf‘ t required to pro
(e apital e@oﬁ@(@asured as the book value of net assets, so again it
f

would be he net assets could be revalued to fair value.

In the context of the educational institution, it will be important to make sure
that private sector training courses are not just profitable, but that they earn a
sufficiently large profit to justify the effort and resources committed to them.
Measuring ROI could be useful in this respect, although the measurement of
profit and the assignment of assets employed to the private sector
programmes is likely to be somewhat arbitrary.

The current wording of the mission statement is entirely qualitative. It would
be useful to introduce some quantitative measures such as ROI.

Customer satisfaction

The purpose of measuring customer satisfaction is to test customer reaction to
the organisation’s services, which in this case would be the training courses
and seminars. Low levels of satisfaction would indicate a need to improve
course content or quality of delivery. High levels of satisfaction are necessary
to sustain growth in the ‘business’. It is widely accepted that setting targets for
customer satisfaction (and monitoring actual performance against target) can
help with the management of service quality, which in turn should help to
achieve long-term growth.
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Debt

Debt looks more attractive:

o If PTG can convince lenders that the decline in profits will not continue, then a
replacement loan for the debentures might be available. The gearing level is
not excessive and there appears to be plenty of security (non-current assets
$180m, net current assets $60m) that could be provided by fixed or floating
charges.

o Mortgages could be taken out to cover the bulk of the cost of acquiring
overseas premises, though this still leaves fitting out the restaurants and
working capital requirements.

Franchising
Global fast food firms often operate on a franchise system.

Franchising has two main advantages in this context:

. The franchisees themselves inject a substantial amount of capital, so helping to
fund the enterprise.

o The franchisees have local expertise and experience, thus reducing cultural
risks.

Joint ventures

To supply additional finance, PTG could consider a joint venture with a US c
which could give further assistance in an unknown market and it {s
organisation that already has suitable sites there could b ra dvantages

o The joint venture approach was ad er King entered the

Japanese market. m NO% “ 5A6

Key answer tips

In part (b) of this question you may find it useful to split the critical success factors between
those that come from the company’s resources and those which come from its
competencies (as is shown in the pocket notes).

(a)

To: David Silvester
From:
Funding strategy for Gift Designs Ltd

Clearly, you have identified a real business opportunity and face both business and
financial risks in turning the opportunity into reality. One possible model you can use
is that of the product life cycle which as a one-product firm is effectively the life cycle
for the company. Linking business risk to financial risk is important — in the early
stages of the business the business risk is high and the high death rate among new
start-ups is well publicised; consequently, there is a need to go for low financial risk.
Funding the business is essentially deciding the balance between debt and equity
finance, and equity offers the low risk that you should be looking for. As the firm
grows and develops so the balance between debt and equity will change. A new
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business venture like this could, in Boston Consulting Group analysis terms, be seen
as a problem child with a non-existent market share but high growth potential. The
business risks are very high, and consequently the financial risks taken should be very
low and so the financing method should avoid taking on large amounts of debt with a
commitment to service the debt.

You need to take advantage of investors who are willing to accept the risks
associated with a business start-up — venture capitalists and business angels accept
the risks associated with putting equity capital in but may expect a significant share
in the ownership of the business. This they will seek to realise once the business is
successfully established. As the business moves into growth and then maturity so the
business risks will reduce and access to debt finance becomes feasible and cost
effective. In maturity the business should be able to generate significant retained
earnings to finance further development. Dividend policy will also be affected by the
stage in the life cycle that the business has reached.

Yours,

(b)  David even at this early stage needs to identify the critical success factors and related
performance indicators that will show that the concept is turning into a business
reality. Many of the success factors will be linked to customer needs and
expectations and therefore where David’s business must excel in order to
outperform the competition. As an innovator one of the critical success factors will
be the time taken to develop and launch the new vase. Being first-to-ma will be
critical for success. His ability to generate sales revenue from demandin ‘Z‘porate
customers will be a real indicator of that success. ﬁ
David will need to ensure that he has ade &%ctlon for the product and
recognise that it will have a prod

There look to b Y;@; alternatlve a&e%&@ablhty to customise the
produ elner @ rent stages a growing business goes

e),‘t‘ t e dlffere as ouated with each stage. One of David’s key
P ( lems WI hat type of business he wants to be. From the scenario it
looks as if h carry out most of the functions himself and there is a need

to decide what he does and what he gets others to do for him. Indeed the skills he
has may be as an innovator rather than as someone who carries out manufacture,
distribution, etc. Gift Designs may develop most quickly as a firm that creates new
products and then licences them to larger firms with the skills to penetrate the many
market opportunities that are present. It is important for David to recognise that
turning the product concept into a viable and growing business may result in a
business and a business model very different to what he anticipated. Gift Designs
needs to have the flexibility and agility to take advantage of the opportunities that
will emerge over time.
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(b)

From a budget preparation perspective, if Material A is in short supply then this
becomes the principal budget factor. This will affect budget preparation because the
first step in the budgetary process will be to determine the optimum mix of products
according to their contribution per kg of Material A. The optimum production plan
can then be determined and the sales budget can be derived from the production
plan. Once the production plan has been determined then Material B, labour and
overhead budgets can be derived.

However, the change may also have an impact from a strategic and decision making
perspective. New strategic decisions may have to be taken on competitive strategy,
the viability of Product W overall, inventory holding strategy and even supply chain
management.

The limit on the level of production may mean that there is spare capacity in the
factory and the fixed overhead absorption rate will increase. This will increase the
cost per unit of products and lower profitability. It appears from the scenario that
rivals will be experiencing similar problems, but X Plc might be able to gain a
competitive advantage if it can somehow negate this problem (for example, by
finding cheaper suppliers, buying the material overseas or changing the product
design). Alternatively, the creation of the budget may support a decision to abandon
Product W altogether (it might be seen as a ‘dog’ in a BCG box) and to support
investment elsewhere in the organisation’s portfolio of products.

There may be knock on effects on other products; if lower production leve ean
that there are spare labour resources it could mean that output of produc %

not use Material A could be increased. Preparing the b S would
support strategic decisions to change or alter L%éﬁtto pIans and sales

strategies of other products, both now

But it will be important th dget is not the only
driver of these strat&ﬁ agx/tlonal eci § Id continue to carry out
qualitat s enV|ro n hat these changes are long-term

| entified and planned for. Relying solely on

l& Wrends
P c udgets ma f|nanC|aI perspective that is often short-term, can be

(c)

driven by any s of the preparer and is overly focused on internal business
capabilities and changes rather than external environmental changes.

It may be, for example, that the shortage of the material has been caused by a
temporary change in supplier production strategies rather than any weakening of X’s
competitive strategy or that rivals have plans to leave the market and that X’s market
share will rise in the future (and the cost of the material subsequently fall as
economies of scales are once again attained).Therefore, budgets can play a useful
part in supporting organisational strategy, but they cannot be used in isolation and
must be supplement by qualitative analysis.

(i) The net present value of a project is the sum of the present values of the
future cash flows which have been discounted at a rate which takes account of
the time value of money.

The expected net present value takes into account the uncertainty or risk
associated with the campaigns by weighting each possible outcome by its
probability and finding the sum of the results.

The expected value alone gives no indication of the range of possible
outcomes. The standard deviation provides a measure of the spread of the
possible outcomes; a higher standard deviation indicates a wide range of
possible outcomes and therefore a higher level of risk.
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(3) Eliminating unnecessary travel — was the journey necessary? Encouraging
employees to work from the home or the office reduces the risk of travel
accidents by avoiding travel in the first place. The company might not only
consider electronic meetings as a way of cutting costs, but also as a way of
reducing the chance of fatal travel accidents.

(4)  Finally, ensuring that all documentation is up-to-date and self-explanatory, so
that it can be picked up easily by other employees of the organisation, hence
avoiding the situation described in the scenario where the divisional director
has to piece together fragments of documentation left by the unfortunate
team.

ACCA marking scheme

Total s e\N ‘ i

Marks
(a) Up to 5 marks for the decision tree analysis and decision tree diagram

Typically this will include (up to a maximum of 5 marks)

Diagram of the decision tree: 1 mark

Expected income from Amethyst: 1 mark

Expected value of Amethyst: 1 mark

Expected income from Topaz: 1 mark

Expected value of Topaz: 1 mark

Conclusion (Topaz): 1 mark

Other marks (up to 4 marks) including subjective nature of probabilities,

sensitivity analysis, only part of the procurement decision

Maximum

(b) 1 mark for each relevant point up to a maximum of e
(c) 1 mark for each appropriate point up to a maX|mum of 5 a

software vendor issues, 1 mark for each app
maximum of 5 marks for employee t ave& mum of
for this sub- quest|on m 15

Q ‘.D|-bl—‘l—‘l—\l—\l—\l—‘
.

LAY

Examiner’s comments

In part (a) many candidates showed that they were very familiar with constructing and
interpreting decision trees and so scored reasonably well on this part question. The most
common error was to forget to subtract the cost of the investment. However, it also has
to be said, that some answers were very poor and it was unclear why the candidate chose
to answer this optional question.

In part (b), candidates who knew this topic well, produced good answers, centred on risk,
supplier viability and software functionality. In contrast, some answers were very poor
and rambling; not answering the specific question at all.

In part (c) there were some very good answers. However, there were also some very poor
answers, lacking in content or generally describing risk management without any context
at all.

Overall, this question was unpopular. Candidate performance tended to be good, with
candidates confident in the application and limitations of decision tree analysis and able
to properly discuss risk in context, or poor, with candidates unable to properly undertake
decision tree analysis or discuss the concept of risk in the context of the scenario.
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53 COOLFREEZE

Key answer tips

These are new areas to the syllabus but not to the qualification. These are areas that have
been covered at lower level papers. However, notice that at this level the emphasis is on
the analysis of the numbers in terms of what they tell us and what their limitations might
be, rather than on performing lots of detailed calculations.

(a)  Spreadsheet analysis

| have had the opportunity to analyse the spreadsheet that you provided. My analysis
suggests that the forecasting team used moving averages to help them analyse past
sales and forecast the future. This is a well-established technique of analysing a time
series and you are incorrect in your assumption that it is 'not based on a well-
accepted approach'.

Explanation of the spreadsheet construction

The technique is based on averaging figures in the time series. For example, column
D is calculated by adding up the first four figures (56,70,74,60) and then gdding this
total to the total moved on by one quarter (70, 74,60,60). This value i divided
by 8 (the number of values in the total calculation), to gva@\ﬁe e value in
column E. This represents the trend of the tlmeg \

)

The figures in column F are the end fr the actual sales figures.

These variations are analyf(“\ ere ? % tion is calculated.
This seaso arl tg ens theTotal variation of each quarter to
t random or e5| on (column H).
P ( e author eet has checked that the total of the trend plus seasonal
plus rando riation"Comes to the original sales figure (column 1).

It is difficult to identify where the forecast figures come from. They are roughly in line
with the observed trends and represent a very modest increase on the previous year
(less than 1% growth). The forecasting group probably thought they were being very
realistic.

Analysis

Time series analysis is based on past data. It cannot be used to predict sudden
changes in the marketplace. The sales manager had expressed reservations when the
forecasts were agreed. His sales staff had already reported that customers were less
optimistic about the future because of a weakening economy and the availability of
cheap foreign imports. In retrospect, a greater consideration of the external
environment should have been included in the overall forecasting approach. Perhaps
a number of scenarios should have been considered that took into account changes
in the external marketplace.
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(b)  Activity based costing

Firstly calculate the number of activities in each area:

Activity Cost Driver Drivers

Machining costs Machine hours 0.25 x (40,000 + 20,000) 15,000

Set up costs No. of production runs  (40,000/500) + (20,000/500) 120

Quality inspections  No. of inspections (40,000 x 50/500) + (20,000 x 9,000
125/500))

Stores receiving No. of deliveries 30,000 + 20,000 50,000

Stores issues No. of issues 15,000 + 15,000 30,000

Then calculate the cost driver per activity:

Activity $000 Driver Cost per driver
Machining costs 600 15,000 $40 per machine hour
Set up costs 900 120 $7,500 per set up
Quality inspections 180 9,000 $20.00 per inspection
Stores receiving 420 50,000 $8.40 per delivery
Stores issues 300 30,000 $10 per issue

Now apply these to each product:

Standard Deluxe

S/ unit S000 S/ unit

Machining costs 10.00 400 10.00 ‘ )%
Set up costs 15.00 5@0

Quality inspections 2 00 ga\e

Stores receiving 8.40 168

Stores issues 153E A67 .50 150
TotaLoverW " 82 45.90 918
éq\ e 14.00 280
P Total producP @tg 45.05 1,802 59.90 1,198
Previous production costs 1,520 1,480

Change in profit (282) 282

(c)  Impact on the company’s profits

A change in the accounting method used will not impact on the company’s overall profits,
which will remain at $660,000. However, it will mean that there is a different split of fixed
production overheads between the products. Activity Based Costing (ABC) uses a fairer
method of sharing these overheads between products based on levels of activity split
across 5 key activity levels (rather than the old system which used one overall split based
on labour hours).

This means that $282,000 of fixed overheads have been re-apportioned from the Deluxe
model to the Standard model. This is due, for example, to the fact that the Standard
product has twice as many machine set ups than the Deluxe model (at a cost of $7,500 per
set up).

This means that both products will now show a profit and the company should notice other
benefits from this change in system.
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only willing to purchase, after careful cost and delivery comparisons, through the
Internet. Hence, Hein is in a situation where he faces more competition to supply
products which are used and replaced less frequently, using a sales channel that is
increasingly uncompetitive. Consequently, Hein’s attempt to re-vitalise the shops by
using the approach he adopted in phase 1 of the company was always doomed to
failure. This failure was also guaranteed by the continued presence of the managers
appointed in phase 2 of the company. These were managers used to tight controls
and targets set by centralised management. To suddenly be let loose was not what
they wanted and Hein appears to have reacted to their inability to act
entrepreneurially with anger and abuse. Hein’s final acts of reinvention concerned
the return to a hedonistic, conspicuous life style that he had enjoyed in the early days
of the company. He probably felt that this was possible now that he did not have the
reporting requirements of the public limited company. However, he had failed to
recognise significant changes in society. He celebrated the freeing of ‘Rock Bottom
from its shackles’ by throwing a large celebration party. Celebrities were flown in
from all over the world to attend. It seems inevitable that the cost and carbon
footprint of such an event would now attract criticism.

Finally, in summary, Hein’s approach and leadership style in phase 3 became
increasingly out of step with society’s expectations, customers’ requirements and
employees’ expectations. However, unlike phase 2, Hein was now free of the
responsibilities and controls of professional management in a public limited
company. This led him to conspicuous activities that further devalued \h(brand,

meaning that its demise was inevitable. O u
)
\@) yge entrepreneurial in

m to become franchisees,

(b) At the end of the first phase Hein still had mana
their outlook. It might have been att‘O

particularly as this mlght be a ctlng t come through the more
challenging stage ct and serV|ce Eq lay ahead. However, by
the tlme Hei I ok at aiM(phase 3), the managers were
% \jS] f the type th ke up the challenge of running a franchise.

P( e*were Vm meetlng targets within the context of centrally
determined @ budgets within a public limited company. Hein would have
to make these employees redundant (at significant cost) and with no certainty that

he could find franchisees to replace them.

At the end of phase 1, Rock Bottom was a strong brand, associated with youth and
innovation. First movers often retain customer loyalty even when their products and
approach have been imitated by new aggressive entrants to the market. A strong
brand is essential for a successful franchise as it is a significant part of what the
franchisee is buying. However, by the time Hein came to look at franchising again in
phase 3, the brand was devalued by his behaviour and incongruent with customer
expectations and sales channels. For example, it had no Internet sales channel. If
Hein had developed Rock Bottom as a franchise it would have given him the
opportunity to focus on building the brand, rather than financing the expansion of
the business through the issue of shares.
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If Sully pursues his ideas for job enrichment, then he will have to carefully assess his
current staff to see which, if any, are willing to pursue this wider role. Evidence
suggests that ‘employees with low growth needs are less likely to experience a
positive outcome when their job is enriched’ (Bratton and Gold). Consequently, Sully
may have to bring new people in from outside if he wants to pursue his job
enrichment policy.

His assessment of the skills, competencies and desires of his employees has to be
even more comprehensive if he wishes to extend jobs to include planning and
enabling tasks. However, such an extension would allow them to assist him finding
and establishing contracts, helping grow the company.

ACCA marking scheme
Marks
(a) 1 mark for each relevant point up to a maximum of 15 marks. 15
(b) 1 mark for each relevant point up to a maximum of 5 marks for the
principles of job enrichment and up to 5 marks for its application at ARC. 10

Total 25
Examiner’s comments
This question was not very popular, but candidates who chose to d \A} ted a
good answer structure to part (a) based on the reqwremen f and reasons for

failure. Many candidates recognised that the m ved from a stereotypical

Theory X manager to a stereotypical Thec?« m Many s made appropriate

reference to managemen thetm thdse C|t|ng C rﬁ\ ry were particularly

insightful, because tﬁl % cs of sigrificant in the context of the
ates

second pa ion. Overall, tlﬂ3 the questlon was answered relatively well,
on this part question

PE ) was worth te ags part question was answered less well. Many candidates

struggled to provide enough relevant information on job enrichment and also failed to
apply it to the case study situation. It seems likely that its potential application was reduced
at ARC by the fact that many of the people who it may have attracted have left the
company. The characteristics of the led may make it very difficult for the manager to
implement a job enrichment scheme. Remember, although a particular concept may
generally be perceived as a good thing (job enrichment in this question), it may not
necessarily be so within the described case study scenario. Candidates must always reflect
the context of the scenario in their answers.
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o Employee training and development — here there is a need to create an
effective management team through management development and
organisational development.

o Labour employee relations — here there is a need to establish harmonious
labour relations and employee motivation and morale.

Overall, the HR implications of the proposed growth strategy are profound and there
is a significant danger that failure to link strategy and the consequent HR needs will
act as a major constraint on achieving the strategy.

Yours,

It is important to note that there is nothing in the nature of the activities carried out
by HR staff and departments that prevents outsourcing being looked at as a serious
option. Indeed, among larger companies the outsourcing of some parts of the HR
function is already well under way, with one source estimating that HR outsourcing is
growing by 27% each year. Paul, therefore, needs to look at the HR activities
identified above and assess the advantages and disadvantages of outsourcing a
particular HR activity. Outsourcing certain parts of the recruitment process has long
been accepted, with professional recruitment agencies and ‘head-hunters’ being
heavily involved in the advertising and short listing of candidates for senior
management positions. Some HR specialists argue that outsourcing much of the
routine personnel work, including maintaining employees’ records, frees the HR
specialist to make a real contribution to the strategic planning process. O

argues that ‘HR should become a partner with senior and line manﬁrs nnKegy

execution’ \
If Paul is able to outsource the routine HR ag 'vg a« %e him to contribute to
the development of the growth str&¥ crltlcal needs that strategy

will require. In man a@&{ﬂs eclalist is in @4 ion to assess current
skills and capabi |t xtstin L{p& t to which these can be
n Hamel and Prahalad’s terms this

ecruitment of a ff W|th the relevant capabilities. Paul needs to show how

‘levera \5 ieve the de5|
Pc EJ/ kely ES p e resources of the company and require the

long it will take *to develop the necessary staff resources as this will significantly
influence the time needed to achieve the growth strategy.

Outsourcing passes on to the provider the heavy investment needed if the company
sets up its own internal HR services with much of this investment now going into
web-based systems. The benefits are reduced costs and improved service quality.
The downside is a perceived loss of control and a reduced ability to differentiate the
HR function from that of competitors. Issues of employee confidentiality are also
relevant in the decision to outsource.
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(b)  JSW argue that successfully managing change depends on context. This context is
made up of a number of factors or contingencies peculiar to the organisation under
consideration. How change is managed in a relatively small privately owned firm like
PSI is very different to how it might be managed in a large international firm of
accountants with hundreds of partners.

re
L
Tutorial note

Balogun and Hope Hailey’s contextual features are a key model in the management
of strategic change.

JSW again use the work of Balogun and Hope Hailey to consider the contextual
features that need to be taken into account in deciding how a strategic change
programme should be managed. These features are shown in the diagram below and
are used in the model answer. However candidates could adopt other models and
approaches.

Contextual features and their influence on strategic change programmes

Time
Power How quickly is
What power does change needed? Scope u
the change leader What qegree m .
have to impose changg i ed‘ 2

Pas
Readiness z s,€:>servation

How ready for ateg ange hat organisational

ghangeds e prog = < resources and

l é ? characteristics need

P ( \\' ) to be maintained?

-

C;)acity Diversity
What is the degree How homogenous
of change resource Capability are the staff groups

available? What is the and divisions within

managerial and the organisation?
personal capability to

Source: Johnson, Scholes and Whittington

In the context of PSI, the following observations could be made.

. Time — the company is not facing any immediate financial or business problems
and so there is no apparent need for rapid change. Figure 1 suggests a
company that is slowly consolidating in its market place. There is no evidence
of a crisis that requires urgent remedial action. It is likely that it will take a
relatively long time to develop the new generic software package, particularly
when the current pressures on the software development team are taken into
account. They are already having problems meeting deadlines for the current
product. The only urgency is that injected by the impatience of the chief
executive who may want to quickly introduce change to achieve the objectives
of realising his investment in the company. The natural inclination of the
software team and their director will be to use any available time to
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Symbols include logos, offices, cars, titles and the type of language and terminology
commonly used within the organisation. The language and symbols of technology
appear to dominate at iCompute. Software developers constantly scan the horizon
for new technological opportunities. They embrace these technologies and solutions
and, as a result, continually distract the organisation. As soon as a technical direction
or solution is agreed, or almost agreed, a new alternative is suggested causing doubt
and delay. One of the managers claimed that the company was ‘in a state of constant
technical paralysis’. This paralysis has implications. Furthermore, technological
objectives can quickly outweigh business and financial objectives, to the detriment of
the company as a whole.

The perceived inability of managers to effectively participate in technological
discussions is derided by software developers who suggest that they are technically
out of touch. Ownership and understanding of up-to-date mobile phones is perceived
to be important, particularly by the software developers who are an important and
powerful group within the organisation.

Finally, the language of the manager who suggested that support should be
outsourced is very illuminating. Support calls are not from customers but from
‘incompetent end users, too lazy to read user guides’. Re-focusing managers on
customers appears to be long overdue.

Routines and rituals concern the ‘way we do things around here’. At iCompute this
involves long working hours and after-work social activities such as ball,
socialising and playing computer games. The latter of these reinfor t)ﬁ%ical
focus (discussed in symbols) of employees. The ro of the
organisation are largely male-oriented (footba games) and would
probably exclude most females. @gt certajply contribute to the
company’s inability to recruj women % Furthermore, long
working hours and Mmes will a p oyees who have to get

S sequence of this culture is an expenswe recruitment

home to-u Iy commi @&_ o not wish to be ‘one of the lads’.
E‘P ute to a A of all employees leaving within their first
the co ‘ v

and training pr

The control systems of the organisation include measurement and reward systems.
Within iCompute technical expertise is only rewarded to a certain organisational
level. To earn more, technically adept employees have to become managers.
Evidence appears to suggest that many are unsuited to management, unable to deal
appropriately with their former peers. These managers also seem anxious to show
that their technical expertise is not diminishing, emphasising the importance of
technology as a symbol within the organisation. Consequently, they often try to
demonstrate this expertise (for example, through programming) but are unaware
that this brings derision rather than respect. The absence of measurement systems
has recently been recognised by management within the company. This has led to
the initiation of an in-house project to improve time recording. However, software
developers within the company see this as an unwelcome initiative.
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ACCA marking scheme

Marks
(a) Up to 2 marks for each identified strength up to a maximum of 10 marks
for strengths
Up to 2 marks for each identified weakness up to a maximum of 10 marks
for weaknesses 20
(b) (i) Up to 1 mark for each relevant point up to a maximum of 4 marks
(ii) Up to 2 marks for each relevant point concerning the
inappropriateness of a no-frills solution, up to a maximum of
13 marks
Professional presentation of coherent argument: up to 3 marks 20
(c) Explanation of alternative strategies: Up to 2 marks for each significant
point up to a maximum of 8 marks.
2 marks also available for professional presentation and coherence of the
complete answer. 10

Total 50

Examiner’s comments

The first part of this question asked candidates to evaluate the strengths and weaknesses of
ONA and to explore how these impacted on the company’s performance. Many of these
strengths and weaknesses were signposted in the text and others were readily discernable
from the tabular and financial data. Most candidates answered this part of t westion
reasonably well. However, three points need to be made; \i

1 Not enough use was made of the financial data. Reak@ arks were available
os. O

for calculating and interpreting s dartﬂ% ne marker commented
that the ‘analysis of the financial x‘& as ofte . Use of this information
often went no fu mg superfl as immediately obvious
from the t &{ ple that ad fallen’.
5 e\a dates ad orate frameworks and models to answer the
( euestlon O was good to see, but on the other it did mean that many
of the answ ere ry long. Valuable time was taken up in explaining the model,

rather than the strengths and weaknesses of ONA. This was a particular problem
when inappropriate models were used (such as PESTEL), leading candidates to
discuss opportunities and threats which were explicitly excluded from the question.

3 One marker commented that ‘candidates frequently started this question with a
paragraph describing SWOT analysis and then noting that only strengths and
weaknesses were required for the answer. This was a complete waste of time’.

The second part of the compulsory question asked candidates to explain the key features of
a ‘no-frills’ low-cost strategy. Credit was given for both generic answers and for answers
which specifically referenced the airline industry. This was answered relatively well.

The question then asked candidates to explain why moving to a ‘no-frills’ low-cost strategy
would be inappropriate for ONA. This part of the question was not answered particularly
well. The question asked candidates to adopt and support a particular position. Overall,
candidates did not give sufficient ideas to get the marks on offer. The better answers
actually adopted the suitability, acceptability and feasibility success criteria suggested by
Johnson, Scholes and Whittingham.
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Not only did this give plenty of scope for a good answer, it also allowed candidates to score
well on the professional marks available for this question. Professional marks were given to
answers that strongly supported the specified position — the inappropriateness of a move
to a ‘no-frills’ low cost airline. Too many answers were neutral in tone and did not carry
sufficient conviction. Answers were diluted by offering alternatives (the focus of the next
part of the question) or by suggestions about how a ‘no-frills’ approach might be made to
work. Although some of these ideas were interesting, they were not the intended focus of
the question.

Finally, candidates were asked to evaluate other strategic options ONA could consider to
address the airline’s current financial and operational weaknesses. There are two key parts
of this requirement. The word ‘other’, meaning other than ‘no frills’ and so marks could not
be awarded for an option which had been specifically rejected by the organisation.
Secondly, the question was particularly looking for strategic options, encouraging
candidates to explore the strategy clock or any other appropriate framework. Indeed the
better answers adopted the strategy clock, Ansoff’s matrix or further applied the suitability,
acceptability and feasibility success criteria. Answers that used these approaches tended to
score well and gained the professional marks on offer. Unfortunately, some candidates did
not pitch their answers at a strategic level, focusing more on piecemeal operational
improvements. Credit was given for such suggestions, but such answers tended to be quite
limited and were not awarded the professional marks, as they did not address strategic
options in an appropriate framework.

Three further aspects also need stressing; \L
1 Financial and quantitative information is provided in SCXE dson. Please
use it appropriately. Many candidates ignored this completely.
2 The information in the scenario is \& any rs were too general
tes mu

and lacked appropriate ¢ W alﬁr& re that they answer

the question set, !‘ ﬁ ion the ‘ been set.

Do no &?W‘es inappro rlaﬁi atter-gun approach. Trying to reference
e

c oriesJedt ers becoming too complicated, too long and too
rrelevant. Can t make sure that answers are focussed and contain

enough relevant pomts to get the marks on offer.

65 THE NATIONAL MUSEUM m Walk in the footsteps of a top tutor
Tutor’s top tips
Part (a)
This part of the requirement explicitly asked for a PESTEL analysis. This should have given
students the correct focus and avoided doubt about which model should be used in answers.
Key to success:
Apply the model to the scenario.
Try to cover all areas of the PESTEL (the examiner complained that some students failed to
cover the 'legal’ issues.
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these visitors is increasing. The percentage of visitors aged 22 and under visiting the
NM has decreased from 19% of the total visitors (in 20X4) to just over 12% in 20X7.
The museum needs to identify what it needs to do to attract such groups to the
museum. The Director General had suggested free admission. This could be
combined with popular exhibitions (perhaps tied in with television programmes or
films) and ‘hands-on’ opportunities. It appears that the immediate neighbourhood of
the museum now houses many of the people the government would like as visitors
and so, from this angle, the location of the museum is an advantage. However, the
comment of the Director of Art and Architecture about popularity and historical
significance hardly bodes well for the future.

The decay of the neighbourhood and the increased crime rate may also deter fee-
paying visitors. The museum is becoming increasingly isolated in its environment,
with many of its traditional middle-class customers moving away from the area and
reluctant to visit. The extensive reporting of a recent assault on a visitor is also likely
to deter visitors. The museum needs to react to these issues by ensuring that good
and safe transport links are maintained to the museum and by improving security
both in the museum and in its immediate vicinity. Visitors need to feel safe and
secure. If the museum believes this to be unachievable, then it might consider
moving to a new site.

Technological

It is estimated that only 10% of the museum’s collection is on view §o,visitors.
Technology provides opportunities for displaying and viewing efdct V»line. It
provides an opportunity for the museum to becom @um — allowing
visitors from all over the world access to @gd information about its
collections. Indeed, such an apprga €lp the.museum achieve some of

its technology and accessihili tﬂ%y th A%nt. Technology can also
be used to incriO Mg activi y, v%leg ne access to products and
aIIowm ‘ucts to IZ gh a secure payment facility. The

vﬁp he museum from its physical space constraints

eﬁ’ e use of tec
P ( also ove ssociated with its physical location.

Enwronment

It can be argued that all contemporary organisations have to be aware of
environmental issues and the impact their activities have on the environment. These
are likely to be exacerbated by the museum being located in an old building which
itself requires regular maintenance and upgrading to reflect government
requirements. It is also very unlikely that such an old building will be energy efficient
and so heating costs are likely to be high and to continue to increase. The museum
needs to adopt appropriate policies on recycling and energy conservation, but it may
be difficult to achieve these targets in the context of an old building. Consequently,
environmental issues may combine with social issues to encourage the consideration
of the possible relocation of the museum to a modern building in a more appropriate
location. However, the museum building is also of architectural importance, and so
some acceptable alternative use for the building might also have to be suggested.

Legal

Legal issues affect the museum in at least two ways. Firstly, there is already evidence
that the museum has had to adapt to legal requirements for disability access and to
reflect health and safety requirements. Some of these requirements appear to have
required changes in the building which have been met with disapproval. It is likely
that modifications will be expensive and relatively awkward, leading again to
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68

So, here in point form, are the main issues raised above. Each point (in suitably expanded
form) would be worth one or two marks. It is not an exhaustive list, but it shows how marks
can be gained by using the information in the scenario. There is a maximum of twelve
marks for this question (remember the three other marks are for style, format and
approach). However, more significantly, a candidate had to only make some of the
following points to guarantee a pass mark on this question. Unfortunately many failed to do
so.

. Cost of continuing leases, re-assignment costs

o Cost of making staff redundant

. Visibility of the brand

. Damage to the brand (closure, empty shops)

o Effect on internet sales of removal of pre-sales and post-sales support
. Effect on insurance sales and that division

. Age group analysis of retail and insurance sales (wealthy consumers)
o Financial figures do not support case for radical change

o Profitability has improved in 20X7 compared with 20X6 (corner turned?)
o Liquidity constant since 20X3

. Gearing slightly increased but not significant

o Retail division generates 85% of the revenue

o Recognition of mature stage of product/market (table 2 supports this) \4
o Directors over-reacting, need to recognise change and manage ac‘cquIM

In part (a) it is best tog the guidance given in the requirement as sub-headings. So there
are 4 areas to cover and you should have four sub-headings. The best model to use overall
is probably a SWOT analysis (this is the best/easiest model on ‘strategic position’ analysis),
but lots of other models could have been used as long as you stick to the principle of
keeping them relevant.

In part (b) there are three things to do: identify problems in the process (aim to find 4 or 5),
discuss why they are a problem, and then attempt to solve them (try to find one solution
for each problem). This should keep your answer relevant and specific and avoid the
temptation to discuss unnecessary theoretical aspects of process redesign.

In part (c) it was important that you recognise that you are being asked about Customer
Relationship Management from the terminology used in the requirement — namely
'acquisition’ and ‘retention’. Therefore it was important not to discuss e-business in general
or get to involved in models such as the 7P’s or 6I’s.
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Understanding stakeholder perspectives and expectations is an important part of
analysing the organisation’s strategic position. Members require better access to
wetland sites and more feedback on the activities of the organisation. Volunteers
wish to be valued more, treated professionally and be given the chance to participate
in decision-making. Having sufficient, knowledgeable volunteers appears to be
necessary if some of the members’ expectations are to be fulfilled. The contribution
of volunteers becomes even more significant in a recession, when an organisation
might have to reduce paid staff. WET also have to be aware of the potential effects of
the recession on individual volunteers. For example, it appears that the failure to pay
travelling expenses may have caused unnecessary hardship and led to the loss of
volunteers. The CEO must also be aware that the consultation exercise with both
members and volunteers will have fostered the expectations of a more open and
democratic leadership culture, contrasting with Dr Abbas’s autocratic style.

The original mission statement of WET was to preserve, restore and manage
wetlands in Arcadia. It might be an appropriate time to revisit this mission statement,
to explicitly recognise stakeholder concerns. For example, many members and
volunteers are concerned with observing and saving wildlife, not wetlands. This could
be explicitly recognised in the mission statement ‘to save wetlands and their wildlife’
or perhaps to ‘preserve, restore and manage wetlands for wildlife and those who
wish to observe them’. This would be a mission statement to which most of the
stakeholders in WET could subscribe.

A number of problems have been explicitly identified in the scenario. Hmthe
swim lane flowchart helps identify two further problems, wh@@y‘ selves
explain some of the other documented difficulties.

1 Firstly, the flowchart clearly t@ nd magketing receive renewal
confirmations before en red. Thisgme t membership cards
and booklets_ﬁf mnt to mem € 'payments have not yet

clea elpt of tRi %A_ on probably suggests to these
r t at pay so response to the payment request is not

P(e necessar see it as an administrative mistake and ignore the

remmder heIp explain the very low rates of people who pay when
they receive thelr payment request. It is not, as the finance manager said ‘an
unethical response from supposedly ethical people’, but a problem caused by
their own system. Perhaps those that do subsequently pay have taken the
trouble of checking whether money has been debited to WET from their bank
or credit card account. The consequence of this faulty process is that a
significant number of members unwittingly receive a free year’s membership.
It may also help explain why a number of members do not receive a renewal
invoice at the end of their membership year. These renewal invoices are only
sent to members who have been updated on the system after their payments
have cleared. If the payment never cleared, then the membership will have
lapsed on the system and a renewal invoice will not be raised the following
year.

2 Secondly, the receipt of a cleared renewal payment is only recorded when the
membership details are updated on the Membership computer system by the
Membership Department. Consequently, renewal reminders will be sent out to
members whose payment is still awaiting clearance. It currently takes the
Finance Department an average of five days from the receipt of the renewal to
notifying the Membership Department of the cleared payment. There is also a
backlog of cleared notifications in this department, awaiting entry into the
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computer system. These members may also receive unwanted renewal
reminders. Finally, members who have received a membership card and
booklet through the process described in the previous paragraph will also
receive a renewal reminder letter. Presumably most members ignore this
letter (after all, they have received the new card and booklet) and believe that
the charity is inefficient and is wasting money on producing renewal reminders
for those who have already renewed their membership. Charities have to be
careful about spending money on wasteful administrative processes. It might
be these renewal reminders that led to the accusations about the charity
wasting money.

A number of options can be considered for redesigning the membership renewal
process. Some are given below. They range from simple changes, remedying the
faults identified in the previous answer, to significant changes in the way WET will
accept payment. Credit will be given for answers that suggest feasible amendments
and also specify the likely consequences of the change to WET as an organisation, to
employees in affected departments and to the systems they use.

° Remedy the fault identified in the previous part of the question 1(b) by only
notifying sales and marketing of membership renewal once payment has been
cleared, not just received. The consequence of this is that a membership card
and booklet will only be sent to members who have paid their subscriptions.
This should lead to an increase in subscription income because a percentage of
members whose payment did not clear first time will now make at their
payment clears. No changes are required to the memb lipx r system
or departmental responsibilities.

. Remedy the second fault identifi dt, 6&1 t renewal reminders are only
sent to members who ha&w@r gnded t renewal invoice, not to
members mmon ed but wh &'Aw still awaiting clearance.

. This %R eved by ritfa y e membership system when a

\N is received. Th nce of this is that renewal reminder letters

P ( e\, ill no m mbers who have renewed, but not yet had their payment
cleare reduce waste and improve member’s perception of the

efficiency of the organisation. However, it will require a change to the

computer system and will also lead to more work for the Membership

Department and another handoff between the Finance and Membership

Departments. This handoff will introduce the chance of error and delay. The

Membership Department already has a backlog in entering the details of
members’ renewals where payments have successfully cleared.

. A suggested generic process improvement is to reduce the number of handoffs
between parts of the organisation by reducing the number of swim lanes. It is
perceived that handoffs have the potential for introducing delay, cost and
error. A number of options are possible, but perhaps the most obvious is to
merge (for the purpose of this process) the functions of the Finance and the
Membership Departments. This is because at one point (and perhaps two, if
the previous suggestion is adopted) Finance are simply notifying the
Membership Department of an event (payment cleared and, potentially,
payment received), which the Membership Department has to then enter into
the computer system. The case study scenario suggests that there is a backlog
of membership details to enter. This probably results in renewal reminders
being sent to members who have already renewed and whose payment has
cleared. Merging the swim lanes will require all staff to have access to the
computer system, sufficient competency in using it and sufficient numbers to
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The case study scenario included a description of the process for membership renewal.
This textual description was supported by a swim lane flowchart. Candidates were asked
to analyse faults in the renewal process and to suggest solutions. This part of the question
was worth 15 marks. It required an analysis of the business situation and the formulation
of appropriate solutions. It did not require long theoretical descriptions of process
redesign patterns, although these could have been usefully applied to the scenario.

This was a practical analysis question and it is disappointing that many candidates were
unable to answer it effectively. Too many answers simply suggested that the computer
system was at fault and should be fixed. Candidates failed to spot glaring errors in the
process (sales and marketing received renewal confirmations before payment was
cleared, delayed acknowledgement of payments led to renewal notifications being sent to
members who had paid) and so many answers were too general and did not gain the
marks on offer. Good answers needed to identify the fault, describe its consequences and
suggest solutions, which could have been quite simple, and did not require any cross-
reference to theoretical concepts.

Effective customer relationship management is essential to charities. Sheila Jenkins
wishes to use email and website technology to facilitate the acquisition and retention of
WET'’s customers and support WET’s aim to gain increased revenues from members and
donors. This part question was about effective customer relationship management;
acquiring, retaining and exploiting customers. It was not a general question about the
principles and benefits of web site and email technology. Too many answers not in
the context of the question. For example, independence of location ﬁ) be an
attribute of the new media, but how can this be harnessgd f i d—wt context of
customer relationship management? Many can thought they had
answered this question relatlvely weII ﬁ s and 6Is) but in reality many
answers did not score well and ri questi A ppointedly answered. In
many cases, candidat$v® d d answersA % rent question.

e\ '
69 9&@\,\ P ag

Key answer tips

The layout in this question is unusual when compared to other past exam questions (there
are less numbers and a diagram of the change kaleidoscope is included). Practising lots of
questions is the best way to prepare for having to deal with a variety of exam layouts.

This question covers core exam areas that are regularly examined and, in the topic of
contextual features, an area that students often have trouble with, the examiner even lists
out the features to consider. The order of the requirements may confuse some students
who would expect parts (b) and (c) to be in the opposite order, but the topics are key
examinable areas. The key difficulty for students may be in time management as there will
have been a temptation to spend too long on the SWOT analysis.

In part (c) it will be important to recognise that 4 different strategic suggestions will be
needed but that only 12 marks are available in total. This means that only 3 marks per
suggestion is available and students should not over-analyse one in particular. It will be
more important to have 4 suggestions than it will be to have lots of detail on each one.
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Demotivated staff: The employees are proud of their achievements and respect the
technological expertise of Dexter. However, the attitude of senior management and
the obvious financial problems of the company have combined to demotivate and
demoralise them. A poorly thought out programme of cost cutting and staff
regrading has compounded this attitude, and many are resigned to the company
failing and are actively looking for other jobs.

The final weakness concerns poor brand awareness. Although Relnk is a technological
leader, the public has little knowledge of its services and capabilities. Marketing has
focused on the website, to the detriment of all other channels, where the company is
up against competitors who appear to offer similar services and also have very
similar trading names.

Opportunities

The continued decline of the economy provides a significant opportunity for Relnk.
Both domestic and commercial users will be looking to reduce their printing costs
and so the market place should be growing. Indeed, Relnk will have to monitor the
economy to detect any upturn which could adversely affect the demand for its
product.

Increased awareness of the need to reuse and recycle products should also provide
the company with significant sales opportunities. The number of ‘green consumers’ is
growing within the country. These consumers may have particular concerns about
using printer cartridges which can only be used once, or which ar sive to
recycle. ‘ﬁ

Government contracts: The economic probl \ﬁt‘r&ave accentuated the

need for government depar value for-money, as well as
demonstrating excellentr n pract
Threats " O

W It is |mp A&%orgamsatlon to continually scan the legal

P éﬂonmen a@m ntial threats. Original Equipment Manufacturers (OEMs)

have failed i pts to make refilling their products illegal. However, they
continue to lobby political parties to change the law, citing their need for income
from printer consumables to fund their investment in advances in printer technology.
The company also has to be aware of threats to their patented process, or indeed to
patents which might threaten their competitive edge.

Technical threats: Threats will continue to emerge from new technology. These
threats might be to produce reusable ink services at a lower cost, or indeed to
remove the need for ink replacement all together. The printer industry is very
technology driven and Relnk will have to continuously monitor new innovations and
product announcements to see if its services and products are threatened.

Competitive rivalry: The print consumables industry is very competitive. Entry costs
into the industry are relatively low, and companies largely compete on price. This is
partly why OEMs, with their higher costs, find it difficult to compete in this market.
Consequently, they largely compete on quality and the generation of fear amongst
consumers that unauthorised products could damage their printers, and, if they do,
their printer warranty will be invalid. Thus it is an extremely competitive
environment, with relatively low brand loyalty. If the potential damage to printers is
overlooked, then there are no switching costs in moving to a different consumables
supplier.
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Finally, the government is considering privatising the DoRC. This could jeopardise the
continuation of the contract to supply this department with reusable ink products
and services, on which Relnk is highly dependent as it contributes 20% of its revenue.

In summary, the company is operating in a very competitive industry where OEMs
also compete aggressively on non-price criteria. However, economic and
environmental issues provide Relnk with opportunities for growth if they can
properly harness their strengths and address the financial and management
weaknesses of the company.

Introduction

The second part of this report looks at the contextual features which will have to be
taken into consideration if strategic change is to be successfully implemented at
Relnk.

Time: refers to the amount of time available to implement change. An organisation
which faces immediate problems has a quite different context for change than one
which is stable enough to be able to plan carefully for incremental change over a
number of years. Relnk has pressing financial problems and so Vi Ventures (VV) will
have to move quickly to make their investment. However, once that investment is
made, VV will then have some time to make the changes necessary to address the
financial performance of Relnk. For example, investing in initiatives to increase brand
awareness and increase sales which will increase the company’s operating proflt

Preservation: In most change situations there is a need to preserve sg X}u
<( sa ard the

the current organisation. In particular, the change é
competencies which are vital if the change is to smg] \'\ e case of Relnk, these

are the skills and experience of the t IS' e employees are key to the
success of the company, but motiv éstless, and some are
actively looking for stment in Relnk, then

V makes th &
they must W assurA% oré hhical staff and dissuade them from
pany.

P(Démty Dlver? d/verSIty of experience. Change can be assisted by a
r

significant deg of diversity of experience, views and opinions within the
organisation. It is hampered by a homogenous view, formed from pursuing the same
strategy for years. The latter seems more likely at Relnk. The focus has been on
technical excellence and innovation. There are no clear groups offering a different
perspective. If the proposed investment does take place, then VV can expect some
resistance to change as they bring in new ideas and directions.

Capability: Capability concerns the experience the organisation has in managing
change. Some organisations have experience of effectively managing change and also
have a workforce which has readily accepted and implemented these changes. At
Relnk, the opposite appears to apply. The management team has been unable to
formulate any changes which have improved the financial performance of the
company. Moreover, the changes they have implemented have not been accepted by
the workforce and indeed have led to a fall in staff motivation. VV’s experience of
implementing change will be an important capability which they will bring to Relnk.
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Py

As a whole, the sector is expanding. The market has grown from revenues of
$2,850m to $3,200m dollars in four years — a growth of 12.28%. Stuart Roam
Warehousing has experienced a 26.00% growth in this time period, although
their market share is still less than 10% (9.84%). Operating margins are slightly
higher than the road transport sector and the ROCE is also higher. Stuart Roam
Warehousing contributes over 40% (40.47%) of the operating profit of the
whole Group. In the Boston Box analysis, there is a practical problem in
defining what is meant by ‘high’, so the company is either a question mark or a
star depending on the assessment of its market share. However it is classified,
it needs further nurturing and investment. In the context of the Ashridge
portfolio model, the company appears to be a heartland business. The Group
has a good feel for the business and there seems to be a good fit between the
business opportunities and the characteristics and capabilities of the Group as
a whole. Overall, its financial performance is largely in line with industry
averages.

Stuart Roam Rail

The rail freight market appears to be expanding rapidly. There is a 26.00% rise
in industry revenue between 20X1 and 20X5. Perhaps this reflects the
increasing cost of road transport, increasing road congestion and fears about
the environmental impact of road transport. However, Stuart Roam Rail is a
very small player in this market. It has failed to match growth (only 6.6%
growth over this period) and its market share has fallen (from 4.20% t 6%).
Its financial performance is relatively poor, reporting low @ ati argins
and ROCE than the industry averages. Importa eac ion of FDRC by
the Group does not seem to have m mpact. In fact despite an

increase in revenues, overaII ormanc ars to be worse. In
20X2 (the las ﬁ; @k\p ny traded Iﬁj)&-\ ompany reported an
operatl r%@ % (4. a ROCE of 3.85% (3.50% in

is |mportant to bear in mind when

ﬂ@ decline in p
e erin ag cqu S|t|on of Godiva airport.
In Boston@x

Stuart Roam Rail is definitely a question mark (problem
child, wildcat). The Group needs to investigate why the company is failing to
grab an increasing market share of a rapidly expanding industry. There are at
least three possibilities contained within the scenario. Firstly, the company is
small and will find it difficult to match the economies of scale enjoyed by the
two large rail freight companies. This probably contributes to high operating
costs. Secondly, the company has no expertise in the bulk freight contracts
(coal, iron ore, oil) which dominate the Meeland economy. This will make it
difficult to take these contracts from the current incumbents. Finally, it is
unclear whether the transport of consumer food and drink is really suitable for
rail transport. The company is distributing to supermarkets, many of which are
unlikely to be directly accessible to the rail network. Road transport is a much
more flexible alternative.

There are also cultural problems within The Roam Group. The company is used
to dealing with a transport method where the medium (roads) is free and
drivers are relatively unskilled. In the rail network the transport medium (rails)
is charged on a usage basis by a monopoly supplier. Train drivers have to
undergo extensive training and are constrained in their route selection. Road
and rail are both methods of transport, but they have quite different
characteristics. In the context of the Ashridge portfolio model, this cultural
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The software expertise of the company’s information systems department can also
be used to fulfil consumer’s desire for increased purchases over the Internet. Up to
now this software expertise has been mainly used to develop in-house production
and retail systems which are acknowledged as being amongst the best in the
industry. This expertise might be used to develop an innovative e-commerce site.
This, of course, also opens up the possibility of sales outside Arnland, something that
is unlikely at the moment, given that all the retail shops are within the country.

WO - options that take advantage of opportunities by overcoming weaknesses. To
some extent this option contains the approach suggested by the Board, upgrading
production machinery. This is addressing a known weakness (out-dated production
facilities), simultaneously tackling another weakness, the cost of production. Here
the approach is to reduce unit cost by improving productivity and reducing energy
costs through the use of modern production equipment. The Board perceives that
overcoming these weaknesses will allow the company to continue to compete in the
market they are familiar with.

Reducing energy costs might also be used to appeal to the increasing number of
green consumers of Arnland who take into account ethical issues when making
purchasing decisions. The business analysts have identified these savings as an
opportunity in their SWOT analysis. They should be attracted to a product that has
been produced using an energy efficient process, and has not travelled thousands of
kilometres (using energy consuming boats, road transport and trains). At the time of
writing, there is an increased interest in measuring product miles or ki“ es, a

term used to assess the environmental impact of delivering a pr¢®r9 point
of production to its point of sale. Although the measu on¥dversial, this need
not necessarily concern the messages e mond Shoes’ marketing
department. 6

in the production of goods in

Hammond Shoes ﬂ the negatj " %A television programmes
showing- t eap and %

essage. Although the consultants have

Wl t of th r
ges ed that g of shoes in Arnland is a weakness (because of high

costs) it could into a strength if the country of origin becomes an
important part of the buying decision for people who are willing to pay a premium
for ethically sourced products. This might be supported by political initiatives, for
example, the support of one of the political parties in Arnland for environmentally
responsible purchasing. Their manifesto suggests that ‘shorter shipping distances
reduce energy use and pollution. Purchasing locally supports communities and local
jobs’.

ST — options that use strengths to avoid threats. The company is an acknowledged
leader in shoe design and distribution software. It also has significant retail
competencies. The company might consider reviewing these to see whether
innovative production and retail systems could not be combined and extended to
provide economies of supply that partly compensate for the relative high cost of
production. So, although production costs cannot easily be reduced, supply and
storage costs might be.
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The extensive property ownership of the organisation is also perceived as a
significant strength. In the short term there may be an opportunity to buy time whilst
the cost of producing overseas increases due to rising fuel costs and demands for
better pay in the producing countries. Thus, cheaper competition might be seen as a
short-term threat, which will eventually disappear. The property portfolio could be
used to help finance Hammond Shoes through this period. It might do this by
disposing of property, or perhaps more innovatively, by selling all of its property and
leasing it back. This would provide liquidity which could be used to ease the company
through the next few years.

WT — options that minimise weaknesses and avoid threats. The high cost of labour
(weakness) and the continued provision of cheap imports (threat) may mean that
Hammond Shoes should consider diversifying into areas of the footwear market
where there is either less demand for raw materials or where a premium can be
charged, either due to the quality of the product or due to appropriate branding. For
example, focusing on shoes for children, which requires greater precision and less
raw material, might be a possibility. The attraction of this is that it is a product which
needs regular renewal (as feet grow) and because parents are conscious of getting
exactly the right fit to avoid permanent damage to their children’s feet. The
acknowledged strengths of the retail experience, where employees have extensive
product knowledge and excellent customer care, might also be harnessed to support
this approach. Branding can reinforce the message, focusing on Hammond Shoes as
primarily a supplier of children’s shoes. Adult shoes may be given a lowe rketing
profile, but are available for cross-selling when parents are vmtm@r ’Kng and
fitting shoes for their children. *

Other niche areas might include high ﬁ at\n shoes and boots, where
customers are willing to pay a pr produc might demand a certain

amount of exclu QWed hrough ap ;@ eting. Again, one of the
attractions %/( arket t shelf-life of the product. Many
\Srs@s h to renew thel ch season as a fashion statement, not due to
P ( @Nd ire to ﬁg dry nd cIean
a i

(c) A mission st nes the overriding direction and purpose of an organisation.
Some organisations also have vision statements stating what the company aspires to.
However, for the purpose of this answer, vision and mission are perceived as largely
the same thing. Mission statements have their critics, with many believing that they
are bland and too wide-ranging. There may be some truth in this view; after all there
are only a limited number of ways that the words customer, quality and leader can
be re-arranged. However, most organisations appear to have settled into an
approach where a short snappy slogan or strap line is supported by a much deeper
description of what the organisation is about, its stakeholders and how it wishes to
interact with those stakeholders. It defines how the organisation wants to do
business. At the time of writing Virgin Atlantic has three elements to its mission
statement, all expanded into specific objectives on its website. To grow a profitable
airline, where people love to fly and where people love to work. Part of ACCA’s
mission is to provide opportunity and access to people of ability around the world and
to support our members throughout their careers in accounting, business and finance.
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Furthermore, the existence of such objectives provides an opportunity for managers
and employees throughout the organisation to align their own work with stated
objectives and so see how what they do contributes to objectives that, in turn, serve
the corporate mission. The company clearly fails to cascade objectives down through
the organisation and, again, at a period of crisis, this may be a significant weakness.
For example, the core value of treating suppliers fairly could have been enshrined
within an objective of paying all suppliers within 30 days. The absence of this specific
objective and hence the impossibility of cascading it down to those responsible for
cash flow management and payment has meant that this section has imposed its
own objective of extending payment terms as much as possible. Evidence suggests
that they now stand at over 60 days, so the company is failing to meet one of its core
values — fairness to suppliers.

Hence, Hammond Shoes does not have a clearly defined mission or explicitly stated
values. Its objectives are restricted and rarely quantified. Its strategy is now under
review, although it has made certain tactical decisions such as resisting outsourcing
and commissioning updated production facilities in Petatown. Thus in the MOST
analysis, there are some elements omitted and hence alignment is impossible. This
needs to be addressed.

ACCA marking scheme

Marks
(a) 1 mark for each appropriate point up to a maximum of. 14
(b) 1 mark for each appropriate point up to a maximum of. “,
Up to 4 further marks are available for the style, structure and clarity of

the answer. '

)
(c) 1 mark for each appropriate point up to a maxi résa, 12
Total m N ‘F c\A6 50

{x©

ments

Krt (a) prowdedP gswe financial information in Figure 1 of the scenario, with
extracts from income and financial position statements. This figure provided sufficient
information to calculate some useful financial ratios; ROCE, gross profit margin, net profit
margin, gearing ratio, interest cover and trade receivable days. Most candidates
recognised this and, as well as calculating appropriate ratios, provided a good textual
analysis of their results. However, the quantitative analysis of the proposed investment
was less well tackled. Some candidates ignored the returns given in the scenario
completely, confining their analysis to the figures presented in the financial statements
and trying to apply the suitability, acceptability and feasibility criteria to the proposed
investment. Other candidates were aware that the analysis should be based on the cost,
income and probabilities described in the scenario, but surprisingly few were able to
properly calculate expected values and so gain the marks on offer. However, despite this
weakness, candidates still performed reasonably well on the first part of this question.

For part (b) no specific framework was given, although the inclusion of a SWOT analysis in
the case study scenario might have suggested a TOWS analysis to candidates. However,
the strategy clock, Ansoff matrix and Porter’s generic strategies could all be successfully
applied to the case study situation. There was no need for answers to include all these
frameworks as their application often suggests the same strategic option. The examiner’s
advice is to only use more than one framework where a further framework gives an
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v

The other two primary activities appear to have been given considerable attention.
Sam sees service as one of his critical success factors to the extent that he almost
seems obsessive about it — he feels unable to delegate here. Additionally the
branding decision demonstrates that Hair Care Ltd is aware of the benefits that can
accrue from such an approach. The company has been able to generate a premium
pricing strategy by doing this. This not only generates more revenue, it removes the
company from the danger of predatory commodity pricing.

The support or secondary value activities have been used to support and develop
the primary activities. The firm’s infrastructure is simple to operate and understand.
Overheads have generally been kept under control. This area may show signs of
deteriorating as the number of employees grow and as the debt levels rise, almost an
inevitability given the current growth rates but Sam needs to be aware of the
dangers that can arise from such a rapid expansion.

Human resource management needs addressing. Negligible staff turnover is often a
sound indicator of reasonable morale and sound management. However there is a
marked absence of managerial training and succession planning within the
organisation. Everything depends upon Sam and Annabelle, understandable in a
small and entrepreneurial company. But as the company grows there should be more
rigorous structures and systems set in place.

Technology development appears to be satisfactory. There has been a large
investment in warehousing, computing and in inventory control and ngtyieval
systems. Sam realises that an efficient distribution facility is critical t he‘%ny’s
success and he is prepared to invest to ensure that t fail him
Similarly procurement is central to the compan \eThe interface between
suppliers and the company is seen_as (é p tance and, as such,
given high priority N

There are no o Vi eakne Qg @ heaeratlons are geared towards
ive

accessi e Iue products HA% as possible. The company operates
\J]‘m overhead S to distribute products as efficiently as possible.
ustomer and SPI are considered to be important, as is the image of the
own-brand products. It appears that Hair Care Ltd is using the value chain
effectively.

ACCA marking scheme

(a)

Marks
Analysis of quantitative data
- trend in costs

- level of debt

- range of products

- inventory levels

- non-current assets
Maximum marks available for this section 10
Future developments

- exchange rates

- management succession

- relationship with competitors

- supplier rapport

- relationship with customers/branding
Maximum marks available for this section

N W WwhWw

U NDNNNN

454

KAPLAN PUBLISHING

join us on facebook @ fb.com/freeaccastudymaterial

W09’ [ellarewApniseaoseaal)//:dny JSIA 310w PeOJUMOp O |



To download more visit http://freeaccastudymaterial.com

ANSWERS TO SCENARIO-BASED QUESTIONS : SECTION 4

Stakeholder analysis usually involves some mapping of power against interest. This
can be used to determine how they should be managed. The following represent the
most likely stakeholders that the management of ABCL will need to manage. The
suggested categorisation is arguable, so students do not have to agree completely
with this analysis to gain the marks on offer.

Corporate customers: the scenario mentions that two corporate customers have
recently switched their training contracts to Ecoba. They may be unsettled by the
change, particularly as the person who negotiated those contracts (Gillian Vari) has
now left the company. One of the customers specifically changed provider because
they were impressed by the ‘named’ lecturers that Ecoba could provide. They would
need to be reassured that these lecturers will remain under new ownership. In
stakeholder mapping terms it could be argued that corporate customers have high
power (because they can move their contracts elsewhere) and high interest. It is
advisable for ABCL to actively manage these key players during the transition period,
perhaps by appointing account managers with specific responsibility for each
corporate customer.

Lecturers: these are the named ‘suppliers’ on contract to Ecoba. It is likely that these
stakeholders will be anxious about the acquisition as they know that the two main
competitors employ full-time lecturers. ABCL also employ full-time tutors in its
operations in Arcadia. Lecturers will be worried that the business model of Ecoba will
be changed by the new management. On the other hand, Ecoba will, at least in the
short term, wish to retain these names to allow business continuity apdyt®4ulfil the
expectations of at least one corporate client. This group of ]| might be
classified as having high power (because they can Q) Ished competitors)
and some interest. A reasonable stak ﬁ Y mlght be to keep these
lecturers satisfied. An early mo GSQ nvoice E\%ant may help keep them
onside.

Full- H /sﬁa‘/ve staff e ;g ‘Sa There is evidence in the case study
aﬂ dmlnlstr Aﬁ r pressure and this will have to be investigated.
P (ed ilure to pa @alme or chase up debts might be due to time pressure or

mcompeten older management terms this group can probably be defined

as having hlgh interest but very little power. They are best managed by keeping them
informed about proposed changes. At most, they should be kept onside.

Individual students. This is a large, diverse group. As customers they are focused on
passing examinations. Individually, they have relatively low power, and, in the
context of the transition, they probably have very little interest. The size and diversity
of the group make it difficult to agree a stakeholder management strategy. There
could be an argument for ignoring this group completely. As long as lecturers and, to
some extent, administrative staff, are properly managed then this group should see
little tangible change. Minimal effort should be put into managing individual
students.

EloBA. The EloBA run the certification scheme. They will wish to be assured that ABCL
will maintain the standards achieved by Ecoba. The EloBA is a powerful stakeholder
as it could potentially withdraw accreditation. Hence it has high power. It is difficult
to gauge its interest as the scenario gives little information about it. However, at
worst it should be kept satisfied throughout the transition process, so that it does not
become excessively interested and hence a key player in the success of the
transition.
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supplying computers at highly competitive prices. It must be recognised that
greenTech’s products could be sold initially at a premium price to reflect its niche
position. However, if the market-place demands it, the major suppliers will have little
difficulty in producing machines that directly compete with greenTech. The product
can easily be imitated. Indeed the scenario reveals that greenTech already supplies
two medium-sized computer manufacturers with components for green products in
their range. These manufacturers might feel uneasy about greenTech becoming a
significant competitor and consequently withdraw their business, so weakening this
revenue stream. greenTech may be better advised to position their fully assembled
computers as a complete kit, just as kit car manufacturers are prepared to provide
assembled cars to customers without the time or expertise to assemble them.

Overall, Lewis-Read’s proposal does not appear to be a particularly feasible strategy.
Johnson, Scholes and Whittington suggest that an assessment has to be made about
the extent to which the organisation’s current capabilities (resources and
competences) have to change to reach the threshold requirements for a strategy. In
the case of greenTech, major investment would be required to overcome entry
barriers and maintain market share. It is unlikely that the cash available would be
sufficient to cope with the global players who already supply fully assembled
computers.

The second suggestion, from Fenix, has many good points. greenTech is currently
reliant on its suppliers because it lacks a manufacturing capability. It appears to make
sense to move upstream in the supply chain to secure supply. Flexibu‘ the
products supplied and reduced costs are also attractive bon Q r, the
company has grown organically and it is still run b apag€ment team that
formed it in 1990. It has no experience in ac gt ies, integrating them and
running them successfully. All evi xg s that acquisitions do not

deliver the benefits m@ med for th ﬁ they are acquired by
experlenced m { hermor ﬁ t reasons that the acquired

com ein another c & rhaps creating both language and cultural
d ars to be a relatively conservative, risk-averse
ompany and s nfamlllarlty and risk associated with this proposal that

means it should be reJected In the terms of Johnson, Scholes and Whittington, the
Fenix proposal is not a particularly acceptable strategy to the existing management
because of the risk involved with acquisition.

Professor Ag Wan’s suggestion may have won by default; after all the television show
has to have a winner! However, it also has two significant strengths. The first, central
to his proposal, is that it allows the company to see itself in a new and exciting way.
The recognition of these core green technology and know-how competencies and
their significance in an important and expanding market should be very motivating to
greenTech’s management and employees. Secondly, it has to be recognised that
most of greenTech’s current business activities are with fellow electronics companies
or enthusiasts. Professor Ag Wan’s proposal continues that tradition. Transactions
will be business-to-business, often at quite a technical level. greenTech is
comfortable with and experienced in such transactions. Professor Ag Wan's
suggestion appears to be suitable, in that the strategy addresses the situation in
which the company is operating. It is acceptable because it is in line with the
expectations and values of the shareholders. Finally, it appears to be feasible as it
does not require excessive funding and most of this funding is focused in one specific
area: market research. The proposal is an excellent cultural fit and so was justifiably
selected as the winner in the programme.
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Acceptability

The acceptability of a proposed strategy is concerned with the expected performance
outcomes of a strategy in terms of return, risk and stakeholder reactions. A
consideration of risk is very important here.

There are a number of mismatches that need to be considered. Firstly, GET has
experience of operating a rail franchise where it has total control over the track and
the trains. In Raziackstan there will be a different model. Punctuality, safety and
efficiency will depend on both the railway (running the trains) and the state
(maintaining the tracks). Conflicts of interest and responsibility are likely. GET has no
experience of working under these terms.

Secondly, GET has no experience of managing outside Rudos. There are clear
indications in the scenario that both the social and industrial culture of Raziackstan is
very different.

For example, railway employees perceive that a ‘railway job is a job for life’ and it
seems likely that there will be a clash between the management culture of GET and
the organisational culture of both the railway operation and SOFR. The apparent
improvements in productivity may be hard to achieve. The risk is even greater at
SOFR because GET has no obvious internal competencies to bring to bear. It has no
experience of running an engineering company, let alone one in an overseas country
with a different culture and expectations. Stakeholders in Rudos may also be
concerned that the management of GET might be distracted from runninggthg East
Rudos franchise, resulting in reduced performance. CO U

Feasibility
Feasibility is concerned with whﬁ‘ @amsatl s the resources and
competences to dellver anC|aI f nsidered under this

headlng, |dent|fy| qwred o those funds. This will be
an issu ﬁd\fAlt ough it d , ash the company is already highly
Nf\ is was |d ntial weakness in the previous analysis. The

Pf@ hise in Ru?@ nced by the Bank of Rudos, but it seems unlikely that it
c

would wish to rease its exposure, particularly to an investment in a distant
country. The financial infrastructure of Raziackstan is immature and so also seems
unlikely as a source of funding for GET. There are also potential financial and
commercial risks that the government could change its strategy on railway
privatisation and GET cannot be sure how profitable or secure its investment in
Raziackstan will be in the medium to longer term. Resource deployment considers
the feasibility of specific strategies by identifying the resources and competences
needed for a particular strategy. For example, is it feasible for GET to establish
expertise in engineering, particularly in another country where it has no experience
of managing at all?

Conclusion

At first sight, the bid for the Raziackstan rail franchise and the associated purchase of
SOFR appears to be a reasonable strategy. However, more detailed analysis suggests
that the rationale is not as strong as it could be and there are many risks involved.
Eventually, it comes down to the company’s ability to find funds and its appetite for
risk. In the long term it may be better for the company to await the outcome of the
audit report on the failing franchises in Rudos. Bidding for these might be a more
profitable and less risky strategy.
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Although Johnson, Scholes and Whittington focus their definition of a CSF on the
customer, other definitions are much wider. John Rockart originally defined CSFs as:

‘The limited number of areas in which results, if they are satisfactory, will ensure
successful competitive performance for the organisation. They are the few key areas
where things must go right for the business to flourish.’

In practice many organisations use the term CSF for other elements of the balanced
business scorecard, even though these are not directly evaluated by the customer
when they are making their purchase decision. The concern, here, is that internal
CSFs will only be valued by internal stakeholders and not by the customers that they
serve.

A consideration of CSFs highlights the significance of Raziackstan’s decision to split
track provision from rail travel provision. It is easy to envisage a situation where
safety is compromised by poor track maintenance and track faults lead to poor
punctuality. The Rudos model seems much clearer, where responsibility is for
everything within the franchise.

ACCA marking scheme
Marks
(a) 1 mark for each appropriate point up to a maximum of 20 marks. 20
(b) 1 mark for each appropriate point up to a maximum of 16 marks. 16

1 mark each for report structure, style, and fluency up to a maximum of 4

\
professional marks. d uK
e CLY

(c) 1 mark for each appropriate point up to a maximum of 10 marks. \

Total ‘\\ tes E

\ N "
J
Examiner’ s com

fi s questlon eII with some candidates getting full marks.
@ andldates mad o] the financial data provided in the scenario. However,
some answers, desplte coring well, displayed elements of poor examination technique that
probably led to later time problems in the examination. Specifically, candidates were not
required to describe selected models and frameworks in depth. Some answers described
frameworks such as Porter’s Five Forces at great length and this was not needed. The
question requires application, not description. Secondly, the injudicious selection of
frameworks often led to the same points being needlessly repeated (for example, in the
PESTEL and the SWOT analysis) and marks can only be given once. Candidates are also
reminded that not all elements of a PESTEL analysis are bound to appear in the case study
scenario or that relevant points will be evenly spread amongst the six influences. Also,
technology (in PESTEL) refers to external technological change, not to the internal
technological resources of the organisation.

The second part of the first question was less well answered than the first part of the
question. Many candidates struggled to impose a structure on the answer and, although
many used the suitability, acceptability and feasibility framework, they often repeated
themselves and failed to make enough distinct points to get the marks on offer. Surprisingly
few candidates tied their answer to their strategic position analysis, the first part of the
question. The proposed strategy concerns an opportunity, and candidates might have
considered this opportunity in the context of the strengths, weaknesses, threats and
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(i)

prey

Organisational culture

Johnson, Scholes and Whittington suggest that the culture of an organisation
consists of four layers. Firstly, values which are often written down as
statements of the organisation’s mission. The visionary objective of the CEO
might be an example of a value. The ‘mission is to deliver health to the people
of Midshire and, by that, | don’t just mean hospital services for the sick, but a
wider vision, where health is a state of complete physical, mental and social
well-being and not merely the absence of disease or infirmity’. Beliefs are more
specific and concern issues which people in the organisation can talk about.
The hospital doctors appear to firmly believe that the visionary objective of the
CEO is unobtainable. ‘You have to realise that poor health is often caused by
poverty, poor housing and social dislocation. You cannot expect MidShire
Health to solve these problems. We can advise and also treat the symptoms,
but prevention and cure for these wider problems are well beyond us.’
Behaviours are the day-to-day way in which the organisation operates. Certain
aspects of these become clear in the scenario describing the strategic planning
project. Finally there are the taken-for-granted assumptions that are at the
core of an organisation’s culture. In the scenario there is a contrast between
the CEQ’s vision of delivering health and the perception of hospital doctors and
nursing staff that the real work is really about treating the ill.

The behaviours of the organisation can be explored further through selected
facets of the cultural web.

The stories told by the hospital doctors are primarily concern@/\/ ¥N|ng
the role of the professional administrator. ‘As w\g1 d*one of the
doctors, ‘we all agree that eff|C|enc feved through giving

control and budget to the o@ e ad istrators who are an
unwanted overhead. Thi M p We can assume that
the chief adr&rxt the CEQ, prﬁ& eeting could not have
Secon Ian g process does not appear to be

ed as real of the meetings the hospital doctors stated

that they @ to get back to their real job of treating patients. It
almost appears that the hospital doctors have agreed to participate in the

planning process as a damage limitation exercise, trying to protect their power
and status, rather than because they have any real interest or belief in the
planning process and its goals.

A definite hierarchy in the power structures appears to exist during meetings.
When the senior hospital doctors are present, the nursing representatives side
with them and provide a powerful block to any of the initiatives proposed by
the CEO. When the hospital doctors are not present, the nursing
representatives appear to be more conciliatory, agreeing to actions and
objectives that they renege on in subsequent meetings. The opinions of the
support staff are clearly not valued by the hospital doctors. The hospital
doctors showed their disdain by leaving one of the meetings when the
objectives and role of the support staff were discussed. Their ideas, for
example for preventative care, are quickly dismissed by the powerful coalition
of the hospital doctors and the nursing managers.

The activities of MidShire Health are affected by the hospital doctors who,
through their powerful professional organisation, have negotiated very
favourable terms of employment. Not only do they enjoy high salaries for full-
time positions, but they also have the right to undertake private practice
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The Ecolite has fewer parts in common with the two other cars. The EcoPlus is
essentially a slightly more sophisticated car than the Eco and the delay when
switching production from Eco to EcoPlus is probably relatively small. In contrast, the
Ecolite has only 70% of parts in common with the two other cars which suggests that
it is the obvious candidate to switch to a different plant. Overhead costs at Lags Lane
should be reduced as there is no need to build and stock sub-assemblies and parts
which are only used in the Ecolite. It has been suggested that there will be a $1,250
reduction in weekly overhead costs at Lags Lane if the production of the Ecolite
model is outsourced.

Against outsourcing

The economic argument for outsourcing is weakened if the complete product range
is considered.

Eco EcoPlus Ecolite
Selling price per car (S) 9,999 12,999 6,999
Variable cost per car (S) 7,000 10,000 4,500
Weekly demand (cars) 6 5 6
Production time per car (machine hrs) 9 10 8
Contribution 2,999 2,999 2,499
Contribution/machine hour 333 300 312
Production time (hours) 54 50 Zﬁ(

Figure 2: Further information relevant to the outsourcing issue
: E)est product mix

At present the following production combmatlo *

with the limited resources. See Figure (g ormatlon
. Six Ecos consummg 54 ctlon£ % 7 994 (6 x $2,999)
ct

o Six ECO\LIKT h?Z @ contributing $14,994 (6 x
Qz\ Ecolbw& 5hours of production contributing $2,999 (1 x

$2,999)

This total contribution of $35,987 per week exceeds the estimated $35,000 per week
overhead cost.

However, if the Ecolite model is made elsewhere, then the following combination of
cars will be made at Lags Lane

. Six Ecos consuming 54 hours of production contributing $17,994 (6 x $2,999)

. Five EcoPlus consuming 50 hours of production contributing $14,995 (5 x
$2,999)

This total contribution of $32,989 is less than the forecast $33,750 per week
overhead cost.

There are also eight unused production hours. It is possible that the future of the
Lags Lane production facility could be in doubt if the EcolLite model is outsourced.

The issue of the capacity of Lags Lane could be addressed by becoming a seven-day
week three-shift operation (pushing capacity up to 168 hours per week) which would
also allow 16 hours for maintenance, given that total demand currently comes to
152 hours. Whether this maintenance time would be sufficient would have to be
investigated. There still remains, however, the problem of finding skilled labour in the
Midshire area.
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(ii)

pre¥

Finally, the companies order forward order book has also reduced over the
period. In 2007 it stood at 73% of sales revenue. This has declined to 37% by
2010.

The overall financial picture is of a company that failed to control costs as it
sought increases in revenue. This appeared to work relatively well whilst
revenues were increasing (the company was profitable in 2007, 2008 and
2009) but it was a problem as soon as revenues dropped. Costs were not cut at
the same rate as revenue decline, leading to a trading loss in 2010.

Ray Edwards has effectively undertaken an informal time to payback
calculation. His assertion that the machine will pay for itself after five years is
correct. A more formal representation of the approach is given below.

All figures in $000s

Year 0 1 2 3 4
Brought forward 76 60 42 22

Cost of the machine 90

Maintenance costs 5 5 5 5 5
Reduced staff costs 15 15 15 15 15
Reduced wastage 2 4 6 8 10
Energy savings 2 2 2 2 2
Carried forward 76 60 42

There are two issues that need further consideration. Th o\&%the
approach to investment appraisal. Time to payba‘/@a éjt te approach,

but Ray has to be sure that it is éﬁ of evaluating project
investment in the context of ake intg=account the time value

of money and so futur not nI|ke the Net Present
VaIue (NPY) g) his |s ecause most of the cash
th prOJect ar ate (haIf of the costs are incurred in

ro), whllst flts do not accrue until years three and four.

If time to? ptable then Ray has to consider whether the payback
time (five Years) is acceptable and, more importantly, whether there other

investments within the company which might pay back sooner, given that
projects will be competing for limited resources.

Secondly, the costs of buying the new machine are very tangible. However,
Ray’s classification of benefits requires further consideration. Although all
three categories of benefit have been given a financial value, these values are
not of the same degree of reliability. Ray has already calculated that less
labour is needed to use this machine and has estimated a reduction of $15,000
per annum based on observed performance. This appears to be a relatively
tangible financial benefit. In Ward and Daniel’s term this is a quantifiable
benefit, because sufficient evidence exists to forecast how much benefit
should result from the change. Wastage is currently being measured in NMS,
but there is a risk of transferring the manufacturer’s claims of savings of ‘up to
10%’ directly to the NMS environment. It is impossible to predict how much
will be saved in advance in the specific context of NMS. It will be possible to
measure reduced wastage once the machine has entered into service, but it is
difficult to predict accurately in advance. In Ward and Daniel’s terms this is a
measurable benefit for which a reliable measure currently exists and the
improvement can be measured once the machine is working.
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